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NEW QUESTION 1
True or False: A reference line cannot be added from the Analytics Pane

A. True
B. False

Answer: B

Explanation:

You can add a reference line to any continuous axis in the view. To add a reference line:

Drag Reference Line from the Analytics pane into the view. Tableau shows the possible destinations. The range of choices varies depending on the type of item
and the current view.

In a simple case, the drop target area offers three options:

Deta Anaitics ¢ o Pays i cone s CETETED

= R THAM Eaea)

Sumsrarire
# Fllzrs
4 Comtant Lne

# Aeerags e Ardd =2 Halarmade Hadd

!
B Muchan willh Guum Lites * My Reference Band Aa
Talie Pars Cr
iel Automalic w /

O et i

% o m
Idcduol Ciglar L Lt ,’.f'-’

B

B dverage wath §5% 0 o - el

v L, ot

5 Rl srlines wi G5 T

Crspem T

& Helereies Lins -
i Relerenes Rand = -
@ Dislobulion Band

Reference: https://help.tableau.com/current/pro/desktop/en-us/reference_lines.htm

NEW QUESTION 2
If you have a dashboard and are displaying its filter, how can you rearrange it?

A. By clicking on the 2 lines on top and dragging the filter.
B. By clicking on the dropdown and dragging the filter

C. By clicking on the filter title and dragging it.

D. By clicking anywhere inside the filter and dragging it.

Answer: A

Explanation:

You can drag the filter by clicking on the 2 lines on top, and then dragging the filter as shown:
ﬁ'

Category IEI D X
(All) \ -
Furniture
Office Supplies
Technology

NEW QUESTION 3
By definition, Tableau displays measures over time as a

A. Packed Bubble
B. Bar

C. Stacked Bar
D. Line

Answer: D
Explanation:
Line charts connect individual data points in a view. They provide a simple way to visualize a sequence of values and are useful when you want to see trends over

time, or to forecast future values.
Please refer to the images below:

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure TDS-CO1 dumps!
rJ CEF’ES harEd https://www.certshared.com/exam/TDS-C01/ (314 Q&AS)

To creale a view that displays the sum of sales and the sum of prolit for all years, and then uses lorecasting Lo determine a

trend, follow these stenps:
1. Commect to the Sample - Superstore data source
2. Drag the Order Date dimension to Columns,
Tableau aggregales the date by year, and creates column headers.
3. Drag the Sales measure Lo Rows.
Tablean agpregates Sales as SUM and displays a simple line chart
4. Drag the Profit measure to Rows and drop it to the right of the Sales measure

Tableau coeates separate axes along the left margin for Sales and Profit.

5
il

Reference: https://help.tableau.com/current/pro/desktop/en-us/buildexamples_line.htm

NEW QUESTION 4
When creating a histogram in Tableau, to what does bin size refer?

A. The minimum number of axis ticks in the view.

B. The range of the continuous measure counted in each bin.
C. The count distinct (COUNTD) of items on either axis.

D. The maximum number of marks in the view.

Answer: B

Explanation:

When creating a histogram in Tableau, bin size refers to the range of the continuous measure counted in each bin. A histogram is a chart that displays the shape
of a distribution of a continuous measure. A histogram looks like a bar chart but groups values for a continuous measure into ranges, or bins. The basic building
blocks for a histogram are as follows: Mark type: Automatic; Rows shelf: Continuous measure (aggregated by Count or Count Distinct); Columns shelf: Bin
(continuous or discrete)4 To create bins from a continuous measure, you need to specify the size of bins, which determines how many bins are created and how
wide they are. The size of bins is equal to the difference between consecutive values along the axis that represents the bins. For example, if you have bins with
values 0-10, 10-20, 20-30, etc., then the size of bins is 10. You can either enter a value for the size of bins manually or have Tableau suggest an optimal bin size
based on a formula that considers the number of distinct rows and the minimum and maximum values in the data5 The other options are not valid definitions of bin
size when creating a histogram in Tableau. The minimum number of axis ticks in the view is determined by Tableau’s automatic scaling and formatting of axes,
which can be adjusted manually if needed. The count distinct (COUNTD) of items on either axis is an aggregation function that returns the number of unique
values in a field, which can be used as a measure in a histogram but not as bin size. The maximum number of marks in the view is limited by the performance and
readability of the visualization, which can be improved by filtering, sorting, or aggregating the data4

NEW QUESTION 5
A is a single zip file that contains a workbook along with any supporting local file data and background images. This format is the best way to package
your work for sharing with others who don’t have access to the original data.

A. .twbx file
B. .tbm file
C. .twb file
D. .tde file
Answer: A

Explanation:

According to the official Tableau documentation:

Tableau packaged workbooks have the .twbx file extension. A packaged workbook is a single zip file that contains a workbook along with any supporting local file
data and background images. This format is the best way to package your work for sharing with others who don’t have access to the original data. For more
information, see Packaged Workbooks.
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Reference: https://help.tableau.com/current/pro/desktop/en-us/environ_filesandfolders.htm

NEW QUESTION 6
You can create for members in a dimension so that their labels appear differently in the view.

A. parameters
B. duplicates
C. copies

D. aliases

Answer: D

Explanation:
You can create aliases (alternate names) for members in a dimension so that their labels appear differently in the view.
Aliases can be created for the members of discrete dimensions only. They cannot be created for continuous dimensions, dates, or measures.
To create an alias: -
w @ Customer pell Autor
aAte  Customer Mame r _:'

e . Color

>B  pddto Sheet
y A -
>&  puplicate Detail
. Rename
Ae
Hide
Alba
Aliases...
Create ¥
* Convert to Measure
#  Change DataType »
# Geographic Role k
=# —Sm e NI o
#  Quantity

1) In the Data pane, right-click a dimension and select Aliases.
2) In the Edit Aliases dialog box, under Value (Alias), select a member and enter a new name.

? To submit your changes: In Tableau Desktop, click OK.

On Tableau Server or Tableau Online, click the X icon in the top-right corner of the dialog box.

When you add the field to the view, the alias names appear as labels in the view. For example:

Reference: https://help.tableau.com/current/pro/desktop/en- us/datafields_fieldproperties_aliases_exlediting.htm

NEW QUESTION 7
To connect Tableau to a CSV data source what type of connection should you use?

A. Spatial
B. Excel
C. Text
D. JSON

Answer: C
Explanation:

Tableau recognises a CSV file as a TEXT file, and therefore it is the correct option. The following are the steps to import a CSV file:
1) From the data connection screen, click on Text:
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Connect

lableau Server

Microsoft Excel
Text file
ISOM file

POF file

apatial file

Statistical file

More...

2) Choose the appropriate file, and click Open:

¥ | Datasets_test3 v Qs {
- '
i athletes.csv
CoffeeChai...e Chain).csv %
cwurData.csy - |
J
= — . [
athletes.csv
CS5V Document - /65 KB
T I |
ags i
Created 19 September 2019 at 3:44 PM
All Text Files (*txt ".csv “tab “tsv) B
: |
Jlions Cancel m
|
3) Finally, Tableau imports the data as shown below:
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Reference: https://intellipaat.com/community/46338/how-to-import-csv-file-in-tableau

NEW QUESTION 8
Which of the following lets you group related dashboard items together so you can quickly position them?

A. Layout Extensions

B. Layout Blanks
C. Layout Containers
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D. Layout positioners
Answer: C

Explanation:

Layout containers let you group related dashboard items together so you can quickly position them. As you change the size and placement of items inside a

container, other container items automatically adjust
Layout container types

A horizontal layout container resizes the width of the views and objects it contains; a vertical layout container adjusts
height.

Horizontal layout container Vertical layout container

The two views below are arranged in a horizontal layout The three views below are stacked in a vertical layout
container. container.
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Reference: https://help.tableau.com/current/pro/desktop/en- us/dashboards_organize_floatingandtiled.htm

NEW QUESTION 9

Suppose | have the following view. What will be the total number of marks if | drag a new measure to the row shelf vs the column shelf?

iil Columns Container

Sheet 4

Conlaimer

S00M

400M

300M

Ordar

200M

100M

UM..--

Jumbao Jumbo Large Box Medium Small Box Small Pack Wrap Bag
Box Drum Box

A. If dragged to row shelf : 14 marks ; If dragged to column shelf : 7 marks
B. If dragged to row shelf : 7 marks ; If dragged to column shelf : 14 marks
C. If dragged to row shelf : 14 marks ; If dragged to column shelf : 14 marks
D. If dragged to row shelf : 7 marks ; If dragged to column shelf : 7 marks

Answer: A
Explanation:

This is a tricky question often asked in the exam.
If we drag a new measure to the row shelf, the following happens:
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We now have 2 rows, and the same 7 columns for both these rows. Therefore, 2x7 = 14 marks!
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But if we drag the same measure to the column shelf, we have just 1 row and a chart created for each of the columns. So (1x7) = 7 marks!
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Reference and notes: https://medium.com/@justindixon91/tableau-specialist-exam-notes- part-4-understanding-tableau-concepts-f78de83fdd35

NEW QUESTION 10

True or False: We can disaggregate the data, to see all of the marks in the view at the most detailed level of granularity

A. True
B. False

Answer: A

Explanation:

Whenever you add a measure to your view, an aggregation is applied to that measure by default. This default is controlled by the Aggregate Measures setting in
the Analysis menu. If you decide you want to see all of the marks in the view at the most detailed level of granularity, you can disaggregate the view.

Disaggregating your data means that Tableau will display a separate mark for every data value in every row of your data source.

To disaggregate all measures in the view:

Clear the Analysis >Aggregate Measures option. If it is already selected, click Aggregate Measures once to deselect it.

| Analysis | Map Format Server Window

Show Mark Labels
v | Aggregate Measures D?
Stack Marks

= View Data...

Reveal Hidden Data

Percentage of

4

Reference: https://help.tableau.com/current/pro/desktop/en- us/calculations_aggregation.htm
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NEW QUESTION 10
What are three ways to access bolding options for the text in a tooltip? Choose three.

A. Select Tooltip on the Marks card.

B. Select Format on the menu, and then select Font

C. Select Worksheet on the menu, and then select Tooltip
D. Hover over a mark and press CTRL+B.

E. Hover over a mark and press ALT+F.

F. Right-click on the Field and select Format.

Answer: ACF

Explanation:

To access bolding options for the text in a tooltip in Tableau, you can:

? Select Tooltip on the Marks card, which allows you to edit the tooltip for the specific marks.

? Select Worksheet on the menu, and then Tooltip, to open the tooltip editor for the worksheet.

? Right-click on the Field and select Format, which lets you format the text including bolding options in the tooltip.

NEW QUESTION 12
Tableau auto-generates dimension(s) and measure(s) for us

Answer: A

Explanation:

Tableau auto-generates :

1 Dimension - Measure Names

4 Measures - Latitude, Longitude, Number of records, Measure Values

Starting with Tableau 2020.2, every table in a data source has a Count field, in the form of NameofTable(Count). The table count field is an automatically
generated, calculated field. (THIS IS NOT PRESENT IN VERSION 2020.1 ON WHICH THE EXAM IS CURRENTLY BASED)

Reference: https://help.tableau.com/current/pro/desktop/en- us/datafields_understanddatawindow.htm

NEW QUESTION 14
A Tableau Support case can be opened in which of the following valid ways?

A. Using the Developer Community Forum

B. Contacting Salesforce using their website

C. Using the support option on the Tableau website
D. Using the Tableau learn website

Answer: C

Explanation:
It is possible to open a Tableau support case by visiting the following link : https://www.tableau.com/support/case

NEW QUESTION 18
Our use case states that we need to create a set showing the Bottom 10 products by Profit in each Region. Which of the following filter types should you apply on
Region?

A. Measure Filters
B. Context Filters

C. Extract Filters

D. Dimension Filters

Answer: B

Explanation:
The beauty of context filters is that according to Tableau's Order of Operations, they are executed before Sets.

Extract Filkars
Y

Data Source Filters
v

Context Filters

hJ Sels, conditional lillers, tog N, Fixed LOD
Dimension Fillers
¥ Include/Excluds LOD, data blending

Measure Filtars

L Foracasts, table cales, clusters, totals
latle Calc Filters

Trend lines, refererce lines

This means that based on what Region's you've selected - Tableau will first only preserve the rows for those Regions. THEN, after this it will compute the Set , i.e ,
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Bottom 10 products in each Region.

1) First let's create a set to compute the Bottom 10 Products by Profit.

> & B G

4
¥F <

Data Analytics

] Sample - Superstore

Dimensions

@ Country/Region

& Slate

& City

& Postal Code
» 2 Product

Ak:  Category

Moe  Sub-Catepory
& Manufacturer

e

T2y Product Mame

Al Profit (bin)
e Region
Measures
# Discount
#* Profit
=t Profit Ratio
#+  Quantity
# Sales

& Top Customers by Profit

Parameters
+ Profit Bin Size
# Top Customers

B Data Source

Sheet1 B

= b L.l i 1 1Y [ | I = Ti 7F = = '~'-t
Create Set
MName: Bottom Products
gl General Condition Top .
None
» By field:
Bottom 10 8 by
" Profit B sum ¢
By formula:
| by
Reset Cancel OK

2) Next, take region on the Rows Shelf followed by the Set we just created. Drag Region and the Set to the Filters Shelf as well.
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3) Now, try to only visualize the data for the South Region:
Pogrs il Colurms
= e
s Sales foreach Category m:"‘
| Rogon Sty | Al
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:

4) The problem right now is that Tableau is computing the Set first (Bottom 10 Products), and then applying the Dimension Filter - South Region and hence these
values are incorrect. Note how these aren't even 10 products, but rather just 8. To fix this, simply add Region to Context:
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Upon doing this, we get the correct answer as :
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References: https://help.tableau.com/current/pro/desktop/en-us/order_of_operations.htm https://help.tableau.com/current/pro/desktop/en-us/filtering_context.htm

NEW QUESTION 22
How do you identify a continuous field in Tableau?

A. It is identified by a blue pill in the visualization

B. It is identified by a green pill in a visualization

C. Itis preceded by a '=#' symbol in the data window
D. It is preceded by a 'Abc’ symbol in the data window

Answer: B

Explanation:
When you connect to a new data source, Tableau assigns each field in the data source as dimension or measure in the Data pane, depending on the type of data
the field contains. You use these fields to build views of your data.

Blue versus green fields

Tableau represents data differently in the view depending on whether the field is discrere (blue), or continuous (green).
Continuous and discrete are mathematical terms. Continuous means "forming an unbroken whole, without interruption”;

discrete means "individually separate and distinet.”

« Green measures and dimensions SR are continuous. Continuous field values are
treated as an infinite range. Generally, continuous fields add axes to the view.

+ Blue measures and dimensions [ Froduct Name ] are discrete. Discrete values are treated as

finite. Generally, discrete fields add headers to the view.

Reference: https://help.tableau.com/current/pro/desktop/en- us/datafields_typesandroles.htm

NEW QUESTION 23
You view the relationship canvas shown in the following exhibit.

- Books

Migrated Data

What does Migrated Data indicate?

A. The workbook was created in previous version of Tableau Desktop.
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B. The data was imported from Tableau Server.
C. The data was recently saved as a packaged data source.
D. The workbook was downloaded from Tableau Online.

Answer: A

Explanation:

In the context of Tableau, "Migrated Data" typically refers to data or workbooks that have been upgraded from a previous version of Tableau Desktop. When you
open a workbook in a newer version of Tableau, the data sources within that workbook might be labeled as "Migrated Data," indicating that they have undergone a
conversion process to be compatible with the new version's features and architecture.

NEW QUESTION 24
Which statement accurately describes aliases?

A. You can create an alias for a discrete measure.

B. You can create an alias for a continuous dimension.

C. When you assign an alias, the name changes in the database.

D. You can assign an alias to a field member before creating a visualization.

Answer: D

Explanation:

You can assign an alias to a field member before creating a visualization. An alias is an alternative name that you can assign to a value in a dimension field. You
can use aliases to rename specific values within a dimension to make them more relevant or descriptive in your view than what the original data provides. For
example, you can use aliases to shorten long names, correct spelling errors, or replace codes with meaningful labels6 You can create aliases for the members of
discrete dimensions only. They cannot be created for continuous dimensions, dates, or measures. To create an alias for a dimension member, you can right-click
the dimension in the Data pane and select Aliases, then enter a new name for each member under Value (Alias). You can also create an alias by right-clicking a
dimension member in the view and selecting Edit Alias. You can do this before or after creating a visualization6 The other options are not accurate statements
about aliases. You cannot create an alias for a discrete measure, because measures are not discrete fields. You cannot create an alias for a continuous
dimension, because aliases are only available for discrete dimensions. When you assign an alias, the name does not change in the database, only in Tableau.
Aliases are stored as part of the workbook or data source, and do not affect the original data6

NEW QUESTION 29
What is the minimum amount of RAM recommended for any production use of Tableau
Server?

A. 8GB

B. 16GB
C. 32GB
D. 64GB

Answer: B

Explanation:

The computer on which you are installing or upgrading Tableau Server must meet the minimum hardware requirements. If the Setup program determines that your
computer does not meet the following requirements, you will not be able to install Tableau Server. These minimum requirements are appropriate for a computer
that you use for prototyping and testing of Tableau Server. They apply to single-node installations and to each computer in a distributed installation.

PROCESSOR CPU RAM FREE DISK SPACE

5 =bit (%6 chipsets)
Minimum Hardware L=COTE 16 GO 15 GB

Requirements

Note: ‘'hese mindmum
requirements are not
recommended for use
in praduction
environments. For
production minimuom

reCommencations, see

Reference: https://help.tableau.com/current/server/en-us/server_hardware_min.htm

NEW QUESTION 32
Larger image
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Summarize

Maodel

Custom

What is this entire view referred to as in Tableau?

A. Data pane

B. Analytics Pane
C. Summary Pane
D. Distribution Pane

Answer: B

Explanation:

Distribution Pane

Explanation

This is the Analytics pane! Read more from the official documentation below:

Drag reference lines, box plots, trend lines forecasts, and cther items into your view from the Analytics pane, which
appears on the left side of the warkspace. Toprle between the Data pane and the Anahytics pane by clicking the tabs at the
top of the side bar

Dats Anatytics 1
:

Wl Constant Line

18 AverageLire

M Mesaudh Quahiss

% Bom Pict

0 Tobshs

Wl

& Average with 359 C1
8 Medanwith 95% Cl
Bt TrendLew

& Forecsal

E

i

Lirw
Band

i

Pt

Tableau Desktop Analylics pane

Reference: https://help.tableau.com/current/pro/desktop/en- us/environ_workspace_analytics_pane.htm
NEW QUESTION 34
True or False: We get different colour pallete options if we drop a discrete field on "Color" in the marks card compared to if we drop a continous field on Color.

A. False
B. True

Answer: B
Explanation:

Yes! We get different color palettes. They are:
*From the official Tableau documentation*
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Categorical Palettes

When you drop a field with discrete values (typically a dimension) on Color on the Marks card, Tableau uses a categorical
palette and assigns a color to each value of the field. Categorical palettes contain distinct colors that are appropriate for
fields with values that have no inherent order, such as departments or shipping methods.

T change colors for values of a field, click in the upper-right comer of the color legend. In Tableau Desktop, select Edit
Calors from the context menuw. In Tableau Server or Tableau Online, the Edit Colors dialog opens automatically.

Tableau Desktop version Web version
ol Dty [ s Cobmgmrc] o
har it i By gl Caspr Fparta
W acreserad | — - [
B dpgiincin . =
W =
of P .“
B Gisecanen H wsns
B {amicy 3 3 ..lulllrnn-
W Lo B tvans
e g .t
LU EL &
B Pernishiagi [T w——
| e [} i
B ot e B ey
| T .lﬂlr!-
B e B e

| RETEE]

(-

To change the color for a value

1) Click on an item on the left, under Select Data Item.

2) Click a new color in the palette on the right. In Tableau Desktop you can hover over a swatch to identify the color.
3) Repeat for as many values that you want to change.

4) In Tableau Desktop, click OK to exit the Edit Colors dialog box. In Tableau Server or Tableau Online, simply close the dialog box.

AND
Quantitative Palettes

Wheen youw droge a field with continuous values on the Marks card (typically a measure]), Tablea displays a guantitative

legened with a continuous range of colors.

SLIMY Sades)
B ]
$5ah LA55 647

¥ou can change the colors used in the range, the distribution of colar, and other properties. To edit cobors, click in the
upper right of the color legend. In Tableau Deskiop, seloct Edit Golors from the context menw. In Tableaw Server or Tableau
Unline, the Edit Colors dialog opens automatically,

When theee are Both negative and positive valwes for the field, the defaulr range of values will use two color ranges and the
Edit Colors dialog box for the ficld has a square color box on cither end of the range. This is known as a diverging palette.

Tableau Desktop version Web version

Eavt Sobors Peodq X

Pirglly
B ot -
Hl .
AR ol
Shroped oolor atrpa
Restras
e 2l codew ramge

Bpnst

When all values are either positive or negative, the default range of values will use a single color range and the Edit Colors
dialog box for the field has a square color box only at the right end of the range. This is known as a sequential palette.

Tableau Deskiop version Web version
Eeok Cadars Sales =
Adlomali b
] BL0% &1
Shepped color sba
Reverse
Une Fall Cosige Rlange
Trachurter Testials,
Rt

o [ e [

Reference: https://help.tableau.com/current/pro/desktop/en us/viewparts_marks_markproperties_color.htm

NEW QUESTION 35
Which of the following is a valid way to create Sets in Tableau?

A. In the Data pane, right-click a dimension and select Create > Set.
B. In the Tableau Main Menu, Choose Worksheet and select Create > Set
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C. In the Tableau Main Menu, choose Dashboard and select Create > Set
D. In the Data pane, right-click a measure and select Create > Set.

Answer: A

Explanation:

There are two types of sets: dynamic sets and fixed sets. The members of a dynamic set change when the underlying data changes. Dynamic sets can only be
based on a single dimension.

To create a dynamic set:

1) In the Data pane, right-click a dimension and select Create > Set.

2) In the Create Set dialog box, configure your set. You can configure your set using the following tabs:

General: Use the General tab to select one or more values that will be considered when computing the set.

You can alternatively select the Use all option to always consider all members even when new members are added or removed.

Eraame Set i sl

My | Fgacns w th =alas T +
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.- i WD L2" fecu o Tt Enaliagcs
#0418 x0 L2 Srarmm Zogow Saar Ervelcpos
A Zrd G el Flop T e B
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None of the other options exist, and therefore are incorrect answers.
Reference: https://help.tableau.com/current/pro/desktop/en-us/sortgroup_sets_create.htm

NEW QUESTION 39
Which of the following represent a valid method to create a Bullet Graph with the LEAST number of fields possible?

A. using 2 measures

B. using 2 dimensions

C. using 2 dimensions and 3 measures
D. using 1 measure

Answer: A

Explanation:

A bullet graph is a variation of a bar graph developed to replace dashboard gauges and meters. A bullet graph is useful for comparing the performance of a
primary measure to one or more other measures. Below is a single bullet graph showing how actual

sales compared to estimated sales.

We can create a Bullet graph with just 2 measures! This method requires the LEAST number of fields possible to create this type of chart.

The best way to tackle such questions in the exam is to click the "SHOW ME" button on top right, and hover over the chart we want to create.

In our case, it is a Bullet graph.
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= Show Me

For bullet graphs try

Wbl Dimensions

ey Measures

Right-click the continuous axis
to swap referance lines

Therefore, we need 2 measures at least to create this chart, and 0 or more dimensions. Reference: https://help.tableau.com/current/pro/desktop/en-

us/gs_bullet_graphs.htm

NEW QUESTION 42

Which of the following are valid Layout Container types when using Dashboards in Tableau?

A. Vertical Container

B. Diagonal Container
C. Horizontal Container
D. Split Container

Answer: AC

Explanation:
Reference:

Layout container types

A horizontal layout container resizes the width of the views and abjects it contains; a vertical layout container adjusts

height.

Horizontal layout container

The two views below are arranged in a horizontal layout

container.

Guaranteed success with Our exam guides
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The three views below are stacked in a vertical layout
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Add a layout container

1. Under Objects on the Dashboard pane, select Horizontal or Vertical.

2, Drag the container to the dashboard,

3. Add views and objects to the layout centainer.

Sheets

L Map - Prefit by State
(8] iemt Wiap - Proft by 5o, L
@l Line Chast - Profit Cheer

Dﬁ}"‘t'l
_IJ Baow poria -EI rage
= QT B Web: Pugn

R Tiead Li LR Y %]
-

i Aaumbaard hiele

https://help.tableau.com/current/pro/desktop/en-us/dashboards_organize_floatingandtiled.htm

NEW QUESTION 43
What are three benefits of using an extract as compared to a live connection to a data source? Choose three.

A. A live connection to a data source can be slow due to network and user traffic, whereas a connection to an extract improves performance.
B. Extracts are stored in memory (RAM), resulting in faster query performance as compared with live data connections.

C. Alive connection to a data source provides the best performance for data connections.

D. An extract reduces the amount of data stored on a client computer as compared to a live data connection.

E. Calculated fields perform better in workbooks connected to extracts than in workbooks with live connections to a data source.

Answer: ABE

Explanation:

There are three benefits of using an extract as compared to a live connection to a data source:

? A live connection to a data source can be slow due to network and user traffic,

whereas a connection to an extract improves performance. An extract is a snapshot of data that is stored locally on your computer or on Tableau Server. An
extract can reduce the load on the data source and speed up queries.

? Extracts are stored in memory (RAM), resulting in faster query performance as

compared with live data connections. When you use an extract, Tableau loads the data into memory and optimizes it for analysis. This allows Tableau to perform
calculations and aggregations faster than with live connections.

? Calculated fields perform better in workbooks connected to extracts than in

workbooks with live connections to a data source. Calculated fields are custom fields that you create using formulas or expressions. When you use an extract,

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure TDS-CO1 dumps!
rJ CEFtShal"Ed https://www.certshared.com/exam/TDS-C01/ (314 Q&AS)

Tableau can process calculated fields more efficiently than with live connections.

NEW QUESTION 46
How does Tableau know at which level to aggregate values?

A. Values are always aggregated at the level of granularity of the worksheet.
B. Tableau doesn't aggregate values, we do!

C. Values are always aggregated at the level of the Date Part

D. Aggregation is always done by using Tableau special formulas

Answer: A

Explanation:
In Tableau, you can aggregate measures or dimensions, though it is more common to
aggregate measures. Whenever you add a measure to your view, an aggregation is applied to that measure by default. The type of aggregation applied varies
depending on the context of the view.
When you add a measure to the view, Tableau automatically aggregates its values. Sum, average, and median are common aggregations; for a complete list, see
List of Predefined Aggregations in Tableau.
The current aggregation appears as part of the measure's name in the view. For example, Sales becomes SUM(Sales). Every measure has a default aggregation
which is set by Tableau when you connect to a data source. You can view or change the default aggregation for a measure—see Set the Default Aggregation for a
Measure.
You can change the aggregation for a measure in the view from its context menu:
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Reference: https://help.tableau.com/current/pro/desktop/en-us/calculations_aggregation.htm

NEW QUESTION 51
Data blending simulates a traditional Join

A. Inner

B. Right

C. Full Outer
D. Left

Answer: D
Explanation:
Data blending simulates a traditional left join. The main difference between the two is when the aggregation is performed. A join combines the data and then

aggregates. A blend aggregates and then combines the data.
From the official website:
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Data blending

When you use data blending to combine data, a query i sent to the datahase for each data source that is used on the sheet.

The resules of the queries are sent back to Tableau a5 agpregated dara and presented together in the visualizarien

Note: Aggregating measures is straightforward —we can take the sum, average, maximum, or other aggregation of a
number with ease, Measure values are aggregated based on how the fleld is agpregated in the view. However, all fields
from a secondary data source must be aggregated. How does that work for dimensions? Dimension values are
ageregated using the ATTR aggregate functon, which returns a single value for all rows in the secondary data source.
If there are multiple valies contained in those rows, an asterisk (*) is shown. This can be interpreted as "there are
rultiple values in the secondary data source for this mark in the view™,

The view uses all values from the primary data source (functioning as the left table) and the corresponding rows from the
secondary data source (the right table) based on the linking field{s)

Suppose you have the follewing Lables. If the linking fields are User 1D and Patron 10, not all values can be a part of the

resulting Leble because of he following:

» A row in the left table does not have a corresponding row match in the right table, as indicated by the null value in the

results.

= ‘Ihere are multiple corresponding values in the rows in the right table, as indicated by the asterisk (*) in the results.

Usei 1D DEwtriet  Level Typ# User D Districy  Lewel Branch  Type
1 5 e Branch  Patros D Distrbct Level 1 . e &
2 3 &) ot ' ! Y - 1 ] apeny
: 5 G| T : e . 5 Sadl M
i 2 W L] 1 i 3 1 1 e W

When measures are involved, they are also aggregated, as seen below:

Branth  Palren 1D Distsint  Lewwl Fine

)] 1 1 1 18,00
o 2 1 4 piel ]
£l 1 | 1 LD
Usen I Ddafrbet  Dewel Type * e i  Divirict  Lewwl Type Bramch  Fines
1 1 1 G Branch  Patron i) District  Lewel Flmes 1 2 -] = L ale ]
¥ ] 84 = e 1 - 1 [ - — ¥ ] Y] [ 5] il ]
a 4 I ] ! t o 30.0g ’ 5 EM sl sl
1 h W ¥ i ¥ I 40.0% H a Iw - L ]

Important: an asterisk (*) in a view with blended data indicates multiple values. This can be resolved by ensuring there
is only one matching value in the secondary data source for each mark in the primary data source, potentially by
swapping the primary and secondary data sources. For more information, see Troubleshaot Data Blending.

Reference: https://help.tableau.com/current/pro/desktop/en-us/multiple_connections.htm

NEW QUESTION 54
You have a visualization that uses multiple types of sorting. How can you clear all sorting of the visualization?

A. Right-click a sorted field, and then select Clear Sort.

B. From the Dashboard menu, select Clear.

C. From the Header label, select the sort icon.

D. From the Worksheet menu, select Clear, and then select Sorts.

Answer: D

Explanation:

To clear all sorting in a Tableau visualization, you would go to the Worksheet menu, select the "Clear" option, and then choose "Sorts.” This action removes all
sorting that has been applied to the visualization, including any custom sorting or sorting based on multiple fields. This is a quick way to reset the view to its default
sorting state and is particularly useful when you have applied various sorting layers and wish to start fresh.

NEW QUESTION 57
What are two use cases for creating hierarchies from the Data pane? Choose two.

A. To organize related fields together

B. To create faster-performing queries

C. To concatenate all fields into a single field
D. To add drilldown functionality for fields

Answer: AD
Explanation:
Hierarchies in Tableau are used to define a drill-down path through your data. By creating a hierarchy, you can organize related fields together, which makes it

easier to navigate complex data models. This also allows users to explore data at different levels of detail, from the highest level of the hierarchy to the most
granular details, simply by clicking to expand and collapse levels of the hierarchy in the view.
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NEW QUESTION 62

When viewing quick table calculations, such as Percent Difference From, that use a value in the previous column, what will be the first data value in the

visualization?

A. Null

B. The current value

C. Zero(O)

D. Duplicated from the nearest column

Answer: A

Explanation:

According to the Tableau Desktop Specialist Exam Guide, when using quick table calculations, such as Percent Difference From, that use a value in the previous

column, the first data value in the visualization will be null, because there is no previous value to compare with.

NEW QUESTION 63
Which of the following are valid ways to show Mark Labels in the visualisation?

A. Click on the Show mark labels icon in the Toolbar

B. Drag the measure to the Text label in the Marks Card

C. Click on Data in the Menu bar and Choose Show Mark Labels

D. Click on Analysis in the Menu bar and choose Show Mark Labels

Answer: ABD

Explanation:
The following showcase how you can show mark labels. Using the Sample Superstore dataset:
1) Let's create a Bar chart showing the sales for each sub-category:

W Cokers

= Rows B Sub-Category

Sheet 1
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2) Now you can show labels by:
*2.1) Click on Show Mark Labels Icon in the Toolbar ( easiest)
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* 2.2) Drag Sales to the Text icon in the Marks Card:
* 2.3) Click on Analysis -> Show mark labels from the Tableau menu bar:

NEW QUESTION 68
What are two outcomes when you drag a continuous date value to the Rows shelf? Choose two,

A. The pill on the Rows shelf is green.
B. The pill on the Rows shelf is blue.
C. A guantitative axis is shown.

D. The date part Is displayed as labels.

Answer: AC

Explanation:

Dragging a continuous date value to the Rows shelf in Tableau results in a green pill on the Rows shelf, indicating a continuous field. It also results in a
guantitative axis being displayed on the visualization. Continuous fields are used to create axes on charts and can represent a range of values smoothly. This is
opposed to discrete date values, which would be represented by a blue pill and typically show headers or labels rather than a continuous axis.

NEW QUESTION 70
True or False: It is possible to change the Geographic Role of a dimension

A. True
B. False

Answer: A

Explanation:

A geographic role associates each value in a field with a latitude and longitude value. Assigning a geographic role based on the type of location (such as state
versus postcode) helps ensure that your data is plotted correctly on your map view. For example, you can assign the City geographic role to a field that contains a
list of city names.

To assign a geographic role to a field:

In the Data pane, click the data type icon next to the field, select Geographic Role, and then select the geographic role you want to assign to the field.
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When you assign a geographic role to a field, Tableau adds two fields to the Measures area of the Data pane: Latitude (generated) and Longitude (generated).
These fields contain latitude and longitude values and are assigned the Latitude and Longitude geographic roles. If you double-click each of these fields, Tableau
adds them to the Columns and Rows shelves and creates a map view using the Tableau background map.

& Lafiude (generaled)

& Longitude (generated)

Reference: https://help.tableau.com/current/pro/desktop/en-us/maps_geographicroles.htm

NEW QUESTION 72
Which of the following is a discrete date part?

A. 07Mar20I7

B. 20Sep2016:9:8:8:6546
C. 01/23/2021

D. February

Answer: D

Explanation:
February is a discrete date part, because it is a specific value that can be used to group or filter data by month. 07Mar2017, 20Sep2016:9:8:8:6546, and
01/23/2021 are continuous date values, because they represent points along a continuous timeline that can be used for analysis.

NEW QUESTION 77
Which of the following are interactive elements that can be added to a dashboard for users?

A. URL Action

B. Filter Action

C. Highlight Action
D. Edit Tooltip Action

Answer: ABC

Explanation:
We can perform filter, URL and highlight actions out of the above given choices on a dashboard. Please refer to the image below:
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Reference: https://help.tableau.com/current/pro/desktop/en-us/actions_dashboards.htm

NEW QUESTION 79

Using the atheletes table:

i) Create a sheet with a crosstab showing the Average weight for each sport (Sheet 1)

i) Create a sheet with a Map showing the Total number of gold medals per Country. Use size as a Mark. (Sheet 2)

Now, Create a Dashboard containing both these sheets, and Use Sheet 2 as a Filter for Sheet 1. What was the average weight for Badminton in Russia?
(Ignore any nulls / unknowns)
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A. 76.25
B. 65.67
C. 68.77
D. 4.87

Answer: A

Explanation:
Pretty common question on the Tableau Desktop Specialist exam.

1) First, lets create Sheet 1. For this, drag sport to the Row shelf, and Weight to the Text mark in the Marks shelf. Change its aggregation to Average:

Pages il Columns

= o

Filters ShEEt 4
sport
aquatics 72.30
Marks archery 72.19
athletics 67.72
sl = badminton 68.77
L D) | basketball 87.75
Cioleir Siza Tt boxing
s o canoe 77.02
e || 5PYS eyeling &67.82
equestrian B/7.44
Bl AVG(weight) fencing 70.66
foatball 68.43
golf 71.44
gymnastics 54.28
handball B3.71
hockey 68.20
juda 76.88
modern pentathion B5.98
rowing 79.54
rugby sevens 7872
sailing 71.17
shooting 73.91
table tennis 85.18

2) Now, for sheet 2 - Drag nationality to the view, and gold to the size mark in the Marks shelf.

NOTE: Depending on your version of Tableau , you may need to assign a Geographical role to the nationality column first as follows:

nationality
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Date A Pl i
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Ceskail Toollip
+/ Default

L nationaily

Geographic Role ./ None

T T LT ETTE

_ Airport

* :jrmbera;!:‘emrds Area Code (U.5.)

i RSl s CBSA/MSA (U.S.)
City

Congressional District (U.S.)

Country/Region
County

NUTS Europe
State/Pravince

ZIP Code/Postcode
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= Pows Latituce (o sted)

Sheet 2
2
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; ! =
2| & m o :
Corlex Sioe - > .
i . r | i
oL = w oy =
Dutsl  Tookip [ ] . .
" -. LI
B oo
& notioraity ;.
L]
L]
Ld
3) Now, let's create a dashboard, and use both these sheets in it:
Dashboard Layout :
. Sheet1l Sheet 2
Defaull
Pliuie sport
aguatics 7e.ad |
Dewice Preview archery 72.15
athieklcs 772
s badminton 68.77
aplop Brewser (A z 6 = baskathall RT.7S8
beming
ts canoe TT.00
cycling &71.EZ
[3d, Shee:l equestrian 67.49 i @
) Sheet2 fencing 7LES , i’ 3
L}
football 6R.43 @ S ndl N e e
golf 71.44 S, . .:. g
gymnastics 5420 3 ® . ;
handball £3.71 - - -
hechey GE.50 5
pcts
e ) juds 76.88
M Horizonta [ B modern pentathlcn 65.95
= vertca J Kawgiton rovilng 7h.04
A e G ixoon FugTY sevens fa.72
- ling L7
H Image ,‘El‘- Frinntion .
choating 7351
Yo raw table tennis 65.18
n et taekwnndo 68.09
L tennis 73.16
Shaow dashboard title triathlan 60.63 - =
el st R®i1 10 Mehen B! 5. im

4) Now, for the most Important step, use SHEET 2 AS A FILTER FOR SHEET 1 as follows:

Sheet 2

Now simply click on Russia in Sheet 2, and Sheet 1 will automatically update as follows:
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Sheet 1 Sheet 2 4
SPOrT 50
aguatics [ e i " 100
archery ELBF L 120
athietles 58.00 t
| badminton 7575 =

boxing &

canog B4.54

cycling £9.40 »

equestrian €5.20

Jeacing 7105 @ . keepony Xoxhde &
golf €4.00

gymnastics £2.80 nationality: RUS
handball €5.03 gald 52

Jude 72.42 . W (Il
modern pentathlon €233

rowing 95.00

sailing €9.00

shooting 70.56

table tennis £7.33

taskwondo 71.67

tennis 72.00

triathlen G3.67

voliayball 82.43

wrastling 77.44

NEW QUESTION 81
If you use a percent difference Quick Table Calculation, what value will be the first data value?

A. null
B.-1
C. 0000

Answer: A

Explanation:
When using a Percent difference, Tableau calculates what the percent change has occured as compared to the last data value. BUT, for the first data value, there

is no previous value to compare it to. Hence, it appears as NULL.
il Cotamns B MONTH{Crdoe Dint

= Rows SLUM{S o)

HeatMap
Ordar Date

1505,

10

= Difference In Sales

Sire

January Feoruary March Apri May Junig July August Septemb. O<iober Novembefie

NEW QUESTION 86
Which of the following are true about Dashboards in Tableau?

A. Floating items can be layered over other objects
B. Tiled items don't overlap

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure TDS-C01 dumps!
D CEt‘tSha I'Ed https://www.certshared.com/exam/TDS-C01/ (314 Q&AS)

C. A bar chart can be used a floating item
D. None of these

Answer: ABC

Explanation:
From the official Tableau documentation:

Tile or float dashboard items

Tiled vs. floating layouts

Each object, layout container, and view that you place on a dashboard is either tiled (the default) or floating,

Tiled layout Floating layout

Tiled iterns don't overlap, they become part of a single Floating Items can be layered over other objects. In the
layer grid that resizes based on the overall dashboard size.  example below, a map floats over tiled views.

For hast resules, give floating ohjects and views a fixed size
and position.

As we can see below, Bar charts can be used as a floating object.

Sales Dashboard

Plot of Sales
200K Sales by Segment ®
2
&
Small Business

s
£ 100K

UH ..............................................

Ok 0K 100K 1 50k 200K, 250K 00K 50K

| Sales by Region

Country / H. =
Egypt
France

Nigeria |
Saudi arabia [
potand

Turkey [
switzeriand |

rraq |
(i 100K 200K 300K 400K H00K GOOK 700K H00K  BDOK
Sales

Reference: https://help.tableau.com/current/pro/desktop/en- us/dashboards_organize_floatingandtiled.htm

NEW QUESTION 87
is a technique in Tableau which will identify marks with similar characteristics

A. Clustering
B. Grouping

C. Sets
D. Union

Answer: A
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Explanation:
Cluster analysis partitions marks in the view into clusters, where the marks within each cluster are more similar to one another than they are to marks in other
clusters.

Reference: https://help.tableau.com/current/pro/desktop/en-us/clustering.htm

NEW QUESTION 92
What is the following icon in the Data pane used to do? Larger image

A. View Data
B. Clean Data
C. Extract Data
D. Sort Data

Answer: A

Explanation:

View Data allows you to inspect your data in a spreadsheet-like layout. You can view data either for the data source as a whole, or to see the underlying data for
an individual mark or a group of marks. In a worksheet, the rows that you see in the View Data window are always scoped to the current selection or the current
view.

The View Data window displays as much of the data as possible by default, up to 10,000 rows. Field names are shown as column headers and can be dragged
and dropped to change their display order. Click a column header to sort the values in that column.

From the official website:

Reference: https://help.tableau.com/current/pro/desktop/en-us/inspectdata_viewdata.htm

NEW QUESTION 94
If you are working with a huge dataset, which of the following are strong reasons to use a context filter?

A. Improve query performance

B. To make the context filter a dependent filter
C. To help clean the data

D. To include only the data of interest

Answer: AD

Explanation:

By default, all filters that you set in Tableau are computed independently. That is, each filter accesses all rows in your data source without regard to other filters.
However, you can set one or more categorical filters as context filters for the view. You can think of a context filter as being an independent filter (Option stating -
To create a dependent filter eliminated

here). Any other filters that you set are defined as dependent filters because they process only the data that passes through the context filter.

You may create a context filter to:

1) Improve performance — If you set a lot of filters or have a large data source, the queries can be slow. You can set one or more context filters to improve
performance.

2) Create a dependent numerical or top N filter — You can set a context filter to include only the data of interest, and then set a numerical or a top N filter.

For example, suppose you're in charge of breakfast products for a large grocery chain.

Your task is to find the top 10 breakfast products by profitability for all stores. If the data source is very large, you can set a context filter to include only breakfast
products. Then you can create a top 10 filter by profit as a dependent filter, which would process only the data that passes through the context filter.

Reference: https://help.tableau.com/current/pro/desktop/en-us/filtering_context.htm

NEW QUESTION 97

While borders and background colors let you visually highlight items on a dashboard, lets you precisely space items.
A. padding

B. margining

C. tiling

D. spacing

Answer: A
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Explanation:

Padding lets you precisely space items on dashboard, while borders and background colors let you visually highlight them. Inner padding sets the spacing
between item contents and the perimeter of the border and background color; outer

padding provides additional spacing beyond the border and background color.

Reference: https://help.tableau.com/current/pro/desktop/en- us/dashboards_organize_floatingandtiled.htm

NEW QUESTION 102
You just added this field to the Columns shelf.

SUM(Profic)

What will this create?

A. A vertical header

B. A horizontal axis

C. A vertical axis

D. A horizontal header

Answer: B

Explanation:
We know that continuous fields will always create an axis, so options stating 'header' are automatically eliminated. For our question, see below:

i oo (T

- ows

Sales

£0  SPO.000 S&0,000 €C0.000 SEQG04 $E00,000 SER0 000 S145 000 S1460 000 S160,000 200 000 E220 000 S240.000 §200000 £20000C0

Prafit

Had the question asked us to place this pill on the Rows shelf instead, we would've gotten a different Answer
i Columns

Rows SUMIPrafit)

$250.000

£200.000

Profit

$150.0:00

$100.000

550,000

NEW QUESTION 104
True or False: It is not possible to blend axes for multiple measures into a single axis

A. False
B. True

Answer: A

Explanation:

We can very much blend multiple measures into a single axis. Such charts are called Combined-Axis / Blended-Axis charts. Follow along:

Measures can share a single axis so that all the marks are shown in a single pane. To blend multiple measures, drag one measure or axis and drop it onto an
existing axis.

Instead of adding rows and columns to the view, when you blend measures there is a single row or column and all of the values for each measure is shown along
one continuous axis. For example, the view below shows quarterly sales and profit on a shared axis.
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Note: If you drag a measure on to the canvas and only see a single ruler indicator instead of the double ruler indicator shown below, Tableau creates dual axes
instead of a blended axis. For more information about how to create dual axes, see Compare two measures using dual axes.
Reference: https://help.tableau.com/current/pro/desktop/en-us/multiple_measures.htm

NEW QUESTION 105
What should you use to apply bold text formatting to rows or columns independent of each other?

A. Text on the Marks card
B. The Field Format Font paneC The Rows tab or the Columns tab on the Format Font pane
C. The Sheets tab on the Format Font pane

Answer: B

Explanation:

To apply bold text formatting to rows or columns independently in Tableau, you should use the Rows tab or the Columns tab on the Format Font pane. This
approach provides control over the formatting of text within individual rows or columns. By selecting the appropriate tab (Rows or Columns), you can apply
formatting settings, including bold text, to only the selected rows or columns. This is a crucial feature for enhancing the readability and visual appeal of specific
parts of a Tableau worksheet, allowing for emphasis on particular data points or categories.

NEW QUESTION 106
Using the CoffeeChain table, create a scatter plot of Profit (x-axis) vs Sales (y-axis) broken down by State. Add a Linear trend line to the view. What is its R-
squared value?

A. 0.783262
B. 0.739284
C. 0.759329
D. 0.748472

Answer: A
Explanation:

Trend lines have become popular questions in recent Tableau examinations. Follow along:
1) First drag Sales to the Rows shelf and Profit to the Columns shelf:

= Rows SUM(Sales)

You will only see a single mark since the view is aggregated.
2) Now, break down this view by state. Drag State into Detail on the Marks shelf ( or directly to the view):

Marks
-

E; Automatic -
g || 2| m
Coler Siza Label
& [ J [+ ]
L el b A

Detail Tocltip | Shape

3) Finally, move to the Analytics pane, and drag Trend line to the view. When you drag it, select the Linear option!:
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Data Analytics

Summarize

M Constant Line

! Average Line

T Median with Quartiles
& Box Plot

Model

FF Average with95% CI
o= Median with 25% Cl

I Trend Line

= Cluster

Custam

Reference Line

il Dol

= Fres

Shest 7
Aodn
Trend Line

Bl

P

&
o

&

Tl L tyiar

&l{Ralnr)

o
g

4) The following is our view. Hover over the trend line to see the R-squared value:

Logarithrig Expenaral ﬁ:lynnnu Ferwnr

4_l_|
G Reference Band
i Distribution Band
& Box Plot
Ankn Annlytics ¥ Pagoe
Suirnemacize
=8 Corstanl Lims Fitars
Wl Average Line
7 Median with Cuertiles
it Bz Pol
& hlarky
Medel 34 putomore
= Awrags with 35% C e )
mf  Madhanwith 95% Cl LE- LT
5 A | ine
K .|
Cosf ok
[ Cheber
<. N

Sheet 1

100K

50K

0K

Sales

40K

20K

OK
O Sk

NEW QUESTION 111

You are creating a combined axis chart.

10K

15K
Profit

20K

O

Sales = 2.17945*Profit + 12707.5
| R-Squared: 0.783262 |
P-yvalue: < 0.0001

25K 30K

Where should you drag the second measure after dragging the first measure to the Rows shelf?

A. The Filter card
B. The vertical axis in the view
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C. The Marks card
D. The horizontal axis in the view

Answer: D

Explanation:

In Tableau, when creating a combined axis chart, after dragging the first measure to the Rows shelf, you should drag the second measure directly onto the
existing axis in the view. This will combine both measures on the same axis, allowing them to share a scale and an axis, which is the essence of a combined axis
chart.

NEW QUESTION 114
True or False: A sheet cannot be used within a story directly. Either sheets should be used within a dashboard, or a dashboard should be used within a story.

A. rue
B. False

Answer: B

Explanation:
It is possible in Tableau to use a sheet within a story directly.
Moreover, in Tableau, a story is a sequence of visualizations that work together to convey information. You can create stories to tell a data narrative, provide
context, demonstrate how decisions relate to outcomes, or to simply make a compelling case.
At the same time, a story is also a collection of sheets, arranged in a sequence. Each individual sheet in a story is called a story point.
Why have driving fatalities decreased in the United States?

Mo By o
T waboty
iy il ¢ e

(D0 gl %

2L

F e s

Why have driving fatalities decreased in the United States?

Aol b5y the
OOrs wadety
pangenani CHTe

0 OO0 gl %

2010

F et i |

Reference: https://help.tableau.com/current/pro/desktop/en-us/stories.htm

NEW QUESTION 117
Which of the following are valid use-cases for the ‘"Manage Metadata' functionality?

A. To clean and automatically fix the data issues in our data source
B. To see the field name in the original data source

C. To view all hidden fields

D. To see the table a field belongs to

Answer: BCD

Explanation:

Top of Form

To clean and automatically fix the data issues in our data source - This is the definition of Data Interpreter.

To rename the field in the original data source - We never modify the original data source when managing metadata. All changes are local to Tableau for our
convenience only.

All other options can be modified using the Manage Metadata property.
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NEW QUESTION 120
Which statement accurately describes creating a group by selecting headers in a view?

A. A new group updates the aliases from the selected headers.

B. The grouped dimension is added to Color.

C. The grouped dimension replaces the original dimension field on Rows or Columns.
D. A newly created group only exists in the current view.

Answer: C

Explanation:

When creating a group by selecting headers in a Tableau view, the newly created grouped dimension replaces the original dimension field on either the Rows or
Columns shelf. This grouping action aggregates the selected headers into a single group, and this new group dimension is automatically placed in the view,
replacing the original dimension. This functionality allows for more simplified and customized categorization within the data visualization, enhancing the ability to

analyze and interpret data according to specific groupings.

NEW QUESTION 124
Which of the following are valid ways to copy a worksheet visualisation as an image?

A. By simply clicking Control + V on the keyboard

B. By clicking on Worksheet in the Tableau Main Menu above, and choosing Copy->Image
C. Using the Marks shelf and choosing Copy->Image

D. By right clicking on the worksheet visualisation and selecting Copy->Image

Answer: BD

Explanation:
The following are 2 correct ways to copy the worksheet visualisation as an image:

Sub-Category

£50,000
£40 000
Selact All
30,00 View Data...
= 20000 copy L Crosstab
a Format... Dﬂtﬂ
1000 Annotate L
. Trend Lines [ . .
-'?I: i , L s—m - [r—
Drop Lines »
Show View Toolbar
510,000
420,000
i 8 E F £ & E £ % £ & £ E @8
fy — |_L = s L i -4
0 4 ~ - =
AND
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Reference: https://help.tableau.com/current/pro/desktop/en-us/save_export_image.htm

NEW QUESTION 127

You create a dashboard that tracks your teams progress on various projects. On the dashboard, you want to display your company's web page. Which dashboard

element should you use?
A. A navigation object

B. A URL action

C. An extension

D. A web page object

Answer: D

Explanation:

To display your company's web page on a Tableau dashboard, you should use a web page object. The web page object allows you to embed a web page within

your Tableau dashboard, providing direct access to external web content.
? Open your Dashboard: Start by opening the dashboard where you want to add the
web page.

? Add Web Page Object: In the Objects section of the dashboard pane, select the "Web Page" object and drag it onto your dashboard.
? Configure URL: After placing the web page object, a dialog box will prompt you to enter the URL of the web page you want to display. Enter your company's web

page URL here.

? Resize and Position: Adjust the size and position of the web page object to fit your dashboard design.
References:

? Tableau's official documentation on dashboard objects: Dashboard Objects

NEW QUESTION 129

Which of the following are true about dimensions?

A. They contain contain numeric, quantitative values

B. They contain qualitative values (such as names, dates, or geographical data)
C. They affect the level of detail in the view

D. Dates are mostly placed in dimensions by default for relational data sources

Answer: BCD

Explanation:

Guaranteed success with Our exam guides

visit - https://www.certshared.com



Certshared now are offering 100% pass ensure TDS-C01 dumps!
D CEt‘tSharEd https://www.certshared.com/exam/TDS-C01/ (314 Q&AS)

About data field roles and types

Data fields are made from the columns in your data source. Each field 15 automatically assigned a data type (such as
integer, string, date), and a rele: Discrete Dimension or Continuous Measure {more commen), or Continuous Dirnension or
Discrete Measure (less commony),

= Dimensions contain qualitative values (such as names, dates, or gaographical data). You can use dimensions to

categorize, segment, and reveal the details in your data. Dimensions affect the level of detail in the view.

» Measures contain numeric, quantitative values that you can measure. Measures can he aggregared. When you drag a
measure into the view, Tableau applies an aggregation to that measure (by delault),

Blue versus green fields

Tableau represents data differently in the view depending on whether the field is discrete (blue), or continuous (green).
Contintuous and discrete are mathematical terms. Continucus means "forming an unbroken whole, without interruption'';
discrete means "individually separate and distinet."”

« Green measires and dimensions SSSCSCIUNY -re continuous. Continuous field values are
treated as an infinite range. Generally, continuous fields add axes to the view.

s [ilue measureas [ SuMProbit) ] and dimensions are discrete. Discrete values are treared as

finite. Generally, discrete flelds add headers to the view.

For relational data sources, dates and times are automatically placed in the Dimensions area of the Data pane and are

identified by the date ™ or date-time ™ {con. For example, the Order Date and Ship Date dimensions from an Excel data

source are showr below,

B2 Order Date

Measures contain numeric quantitative values hence that option is incorrect.
Reference 1: https://help.tableau.com/current/pro/desktop/en- us/datafields_typesandroles.htm
Reference 2: https://help.tableau.com/current/pro/desktop/en-us/dates.htm

NEW QUESTION 134
When using a data source that has relationships, how can you add a join between two or more tables?

A. From the Tables pane, double-click a table.

B. From the Tables pane, drag a table directly on top of an existing logical table.
C. From the Connections pane, select Add.

D. Double-click a logical table in the canvas.

Answer: C

Explanation:

When using a data source that has relationships, you can add a join between two or more tables by dragging a table directly on top of an existing logical table
from the Tables pane. This will create a logical table that contains the joined tables. You can then edit the join type, join clauses, and join calculation as needed?2
The other options are not valid ways to add a join between tables when using relationships. From the Tables pane, double-clicking a table will add it to the data
source as a separate logical table, not joined with any other table. From the Connections pane, selecting Add will allow you to add

another connection to the data source, not join tables within the same connection. Double- clicking a logical table in the canvas will open the Data Source page,
where you can view and edit the fields in the logical table, not join it with another table2

NEW QUESTION 139
What are three options to change the scope of a reference line? Choose three.

A. Per Pane

B. Fill Above
C. Entire Table
D. Maximum
E. Per Cell
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Answer: ACE

Explanation:

You can change the scope of a reference line by choosing one of the following options: Per Pane, Entire Table, or Per Cell. The scope determines how many
reference lines are added to the view and how they are calculated. Per Pane adds one reference line for each pane in the view. Entire Table adds one reference
line for the entire table in the view. Per Cell adds one reference line for each cell in the view

NEW QUESTION 142
Is it possible to add both a Dashboard and a Worksheet at the same time to a Story Point in Tableau?

A.Yes
B. No

Answer: B

Explanation:
This is a tricky question. We are talking about story POINTS, and not entire stories in the question.
To create a story, lets say | have a blank story with 1 dashboard and 1 worksheet. | can simply drag the dashboard into the view to create a new story point.
B Ly .
: Story 1

Bera wl g panad
&3 IaAME

e

o Dy A il st

T S 1

} - S Towri] B Cuabosrs | ¥ kL BL, OE

Now, if | try to adjust the worksheet beside it in this same view, | cannot. See below:

qeee
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]
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[} - Iy i e enl Eewy 1 A

The only option available is to replace the existing view. Therefore, the answer is NO since
they both cannot be added.
Read more about stories in Tableau: https://help.tableau.com/current/pro/desktop/en- us/story_create.htm

NEW QUESTION 147
is a snapshot of the data that Tableau stores locally. Good for very large datasets of which we only need few fields.

A. Tableau Packaged Workbook (.twbx)
B. Tableau Workbook (.twb)

C. Tableau Data Extract (.tde)

D. Tableau Data Source (.tds)

Answer: C

Explanation:

Tableau Data Extract (TDE) is a snapshot of the data that Tableau stores locally. Good for very large datasets of which we only need few fields. Performance is
optimised because it queries its own database engine instead of the local data source.

When you create an extract of your data, you can reduce the total amount of data by using filters and configuring other limits. After you create an extract, you can
refresh it with data from the original data. When refreshing the data, you have the option to either do a full refresh, which replaces all of the contents in the extract,
or you can do an incremental refresh, which only adds rows that are new since the previous refresh.

Extracts are advantageous for several reasons:

1) Supports large data sets: You can create extracts that contain billions of rows of data.

2) Fast to create: If you're working with large data sets, creating and working with extracts can be faster than working with the original data.

3) Help improve performance: When you interact with views that use extract data sources, you generally experience better performance than when interacting with
views based on connections to the original data.

4) Support additional functionality: Extracts allow you to take advantage of Tableau functionality that's not available or supported by the original data, such as the
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ability to compute Count Distinct.

5) Provide offline access to your data: Extracts allow you to save and work with the data locally when the original data is not available. For example, when you are

traveling.

NEW QUESTION 149

You have a workbook that contains one data source and you need to combine data from another database. What should you do first?

A. Create an extract.
B. Add a new connection.

C. Add a new data source from the data source canvas.

D. Edit the existing connection.
Answer: B

Explanation:

To combine data from another database with an existing data source in Tableau, the first step is to add a new connection. This will allow you to access the
additional database and either blend or join the data from the two sources depending on your analysis needs.

NEW QUESTION 152

Which of the following are valid ways to Bold the Tooltip content in Tableau?

A. Click on Analysis, Tooltip options, and select bold.
B. Click on Tooltip in the Marks card, and select bold.
C. Click on Worksheet in the Menu bar, followed by Tooltip and select the bold option
D. Right click, click format and then under the default worksheet formatting, choose Tooltip and make it bold.

Answer: BCD

Explanation:

Lot of students have been seeing this question in the exam lately, and wanted me to include this question so here it is. Follow along -
1) Click on Worksheet in the Menu bar, followed by Tooltip and select the bold option
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& € 2 & G G & IF
_ Export

Data Analytics Clear mns
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Dimensions i o Tooltip...
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@ Country Show Summary
A Customer D Show Cards
a=e Customer Name Show View Toolbar TOOK
9 Order Date | +/ Show Sort Controls
A Order 1D Describe Sheet... oK
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ase  Product 1D
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ax Region Run Update
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2) Click on Tooltip in the Marks card, and select bold.
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3) Right click, click format and then under the default worksheet formatting, choose Tooltip and make it bold.
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There exists no option to Bold the tooltip contents by clicking Analysis. Hence, it is an incorrect choice.

NEW QUESTION 154
Which two elements can have their values changed by using a dashboard action? Choose two.

A. Bins

B. Groups

C. Sets

D. Parameters

Answer: CD

Explanation:

In Tableau, the two elements that can have their values changed by using a dashboard action are Sets and Parameters. Dashboard actions can be configured to
modify the values within a set or a parameter, allowing for interactive and dynamic changes in the visualization based on user interactions. For example, selecting
a specific data point in a dashboard can trigger an action that updates a set or changes the value of a parameter, which in turn can alter the displayed data or the
appearance of visualizations within the dashboard.

NEW QUESTION 159
Which two functionalities can you provide to consumers by adding a parameter to a visualization? Choose two.

A. Change fields in the visualization.

B. Download the underlying data as a CSV file.

C. Change the results of calculations in the visualization.
D. Create a new field in the data source.
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Answer: AC

Explanation:

In Tableau, parameters are dynamic values that can replace a constant in calculations, filters, and reference lines. If you have a parameter controlling a
calculation, changing the parameter value can change the results of that calculation, thus impacting the visualization. Parameters can also be used to switch

between different fields in the visualization; for example, allowing users to choose which measure or dimension to display.

NEW QUESTION 161
According to Tableau's 'Order of Operations', which of the following filters is applied FIRST?

A. Dimension Filter
B. Measure Filter
C. Context Filter
D. Extract Filter

Answer: D

Explanation:

According to Tableau's order of operations, the Extract filter is right at the top of the hierarchy. The data filtered in the Extract is then passed on to what we see in

the Data Pane. See below:

Extract Filters
hJ
Data Source Filtars
v

Context Filters
— T S— Sels, conditional lillers, oo N, Fixed LOD

Dimension Fillers

Include/Exclude LOD, data blending

A

Measure Filtars

B f i Forecasts, table cales, clusters, totals
Tatle Calc Filters

"

Trend lines, refererce lines

Reference: https://help.tableau.com/current/pro/desktop/en-us/order_of_operations.htm

NEW QUESTION 162
For a sort, no matter how the data changes, the values will always stay in the sort order we kept stuff in.

A. Random

B. Manual

C. Topological
D. Hierarchical

Answer: B

Explanation:

For a manual sort, no matter how the data changes, the values will always stay in the sort order you kept stuff in.

From the official website:
You can also manually sort items in the view using the Legend. To manually sort items do the following steps:
L In the Legend, right-click anywhere in the white space and select Sort from the context menu,

2. In the Sort dialog, in the Manual seclion, select iems Uthat you want to feorder and then use the Up and Down

buttens to move items in the list

ot S

20t oroer

) A

Flald

Manial

Amaretio
Caffe Late
Chamomile
Cohambian

| Caife Macha
Mint
Régular Eepressn
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Reference: https://help.tableau.com/current/reader/desktop/en-us/reader_sort.htm

NEW QUESTION 165
The Shape option is available for which two views? Choose two.

A. Side-by-side circles
B. Scatter plots

C. Heat maps

D. Packed bubbles

Answer: BD

Explanation:

The Shape option is available for scatter plots and packed bubbles views. The Shape option allows you to change the shape of marks in the view by selecting
from a predefined set of shapes or adding custom shapes. You can access the Shape option by placing any field on Shape on the Marks card4 Scatter plots are
views that show the relationship between two numerical variables by plotting them as coordinates on a Cartesian plane. You can create a scatter plot by placing at
least one measure on Columns and at least one measure on Rows on the Marks card. You can then use Shape to assign different shapes to different categories
or segments in your data5 Packed bubbles are views that show hierarchical data as a set of nested circles. Each circle represents a dimension member and its
size is proportional to a measure value. You can create a packed bubble chart by placing one or more dimensions on Detail and one measure on Size on the
Marks card. You can then use Shape to change the shape of circles to other shapes such as squares or stars6 The other options are not valid views for using the
Shape option. Side-by-side circles are views that show proportions of a whole by using circles with different angles and sizes arranged horizontally or vertically.
You can create a side-by-side circle chart by placing one dimension on Columns or Rows and one measure on Angle and Size on the Marks card. You cannot use
Shape to change the shape of circles in this view7 Heat maps are views that show the distribution of two or more measures by using a color gradient and size. You
can create a heat map by placing one or more dimensions on Columns and Rows and two measures on Color and Size on the Marks card. You cannot use Shape
to change the shape of marks in this view8

NEW QUESTION 170
Which three elements are included in a packaged workbook (.twbx)? Choose three.

A. A PDF copy of the workbook

B. Background images

C. Tableau Datasource Customization (TDC) files
D. Extract files

E. Custom shapes

Answer: BDE

Explanation:
According to the Tableau Desktop Specialist Exam Guide, a packaged workbook (.twbx) includes background images, extract files, and custom shapes. A PDF
copy of the workbook and Tableau Datasource Customization (TDC) files are not included in a packaged workbook.

NEW QUESTION 174
When using Animations in a Tableau, which of the following is the default duration for animations?

A.0.4s
B. 0.3s
C.0.5s
D. 0.2s

Answer: B
Explanation:

The LATEST Tableau Desktop Sepcialist exam blueprint now requires you to know some basics about animations as well!
NOTE: Animations are DISABLED by default and must be manually enabled.
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Animate visualizations in a workbook

1. Choose Pormat = Animations:
2. 1f you want to animane every sheet, under Workbook Default, click On. Then do the following:
+ For Duration, choose a preset, or specily a custom duration of up to 10 secands,

" For Style, choose Simultaneous o play all animations at once of Seqoential 1o fade aur marks, move and sor
themn, and then fade them in,

3. To overtide workbook defaults for a particular sheet, change the seltings under Selected Sheet.

You can also reset all settings to default by clickin on 'Reset All'
Animations X

Workbook Default

Duration

L |

0.20 seconds (Fast)

Syl

Simullaneous v

Saelected Sheat
Sheet 1

Animation
On (Dafault) -

Duration

0.3 seconds (Defa...

Slyle

Simulaneous (Def... -

Reset All

Reference: https://help.tableau.com/current/pro/desktop/en-us/formatting_animations.htm

NEW QUESTION 176
Using the dataset, create a bar chart showing the average Quantity broken down by Region, and filtered by Country to only show Japan. What was the average
Quantity in the State of Tokyo?

A. 3.000
B. 3.840
C.3.704
D. 3.500

Answer: C
Explanation:

Since we need to focus on 1 country -> Japan, let's filter on it first as follows:
1) Drag Country to the filter shelf, and choose only Japan. Click OK.
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2) Read the Question Carefully, we need to break down the visualisation by Region, then by Country, and then by State. So let's do that:
Drag Region to the column shelf, followed by Country. Drill down into Country to include states as well.
Then drag Quantity to the Row Shelf, and change the Aggregation to AVERAGE. The following is our visualisation:
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Now that you think of it, EVEN IF YOU REMOVE THE REGION, THE ANSWER REMAINS
THE SAME. Such elements will be present in the actual exam too, just to make the question sound a little difficult, but actually it is pretty straightforward :)

NEW QUESTION 178
By default, measures placed in a view are aggregated. The type of aggregation applied

is always sum
8 depends on the context of the view
C. is always COUNT

D. is always AVERAGE

Answer: B

Explanation:

By default, measures placed in a view are aggregated. Mostly you'll notice that the aggregation is SUM, but not ALWAYS.

The type of aggregation applied varies depending on the context of the view. Reference: https://help.tableau.com/current/pro/desktop/en-
us/calculations_aggregation.htm

NEW QUESTION 182

Which Sub-Category had the least Profit in the Office Supplies category?
A. Fasteners

B. Labels

C. Envelopes

D. Binders

Answer: A
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Explanation:
To reach the correct answer, follow the steps below:

' L

Il Columns SUM(Profit)
= Rows Category Sub-Category e

1) Drag Category, and sub-category to the row shelf. Drag Profit to the Column shelf
2) Click the Sort-ascending icon as shown above, to sort the profits from least to greatest as shown:
Click the 'Show mark labels icon’

L~ eI} T J - T <4¢ | Standard ~ gl -

Sheet 7

Categary Sub-Catego..

ALrniture ot e w400 I
Furnisbiiny I . 567
Cheies I 0,06
Benki=ataE 161,924

Office Frastanars | EER

susphie L |
Supalies | i
I o ecn
art I s
Fapiar _:-"'5-2“E
B e I 7 <<
CRorao _ 18461
ey

schrology  Rtach mes I s: coc
— I - 26
Phones [, 1,7 7
Copiers 1 : .

1k =314 4 L= ] 107K 1 B0 i ] ALK =iy 14
Prefit

As we can see, Fasteners has the least Profit in the Office Supplies Category, and hence is our correct answer!

NEW QUESTION 186
What is created by a calculated field that has a formula of SUM(Sales)/SUM(Profit)?

A. A parameter
B. A measure
C. A dimension
D. A set

Answer: B

Explanation:

a calculated field that has a formula of SUM(Sales)/SUM(Profit) is a measure, because it returns a numeric value that can be aggregated and used for analysis. A
parameter is a user-defined variable that can be used in calculations or filters. A dimension is a categorical field that can be used to group or slice data. A setis a
subset of data based on some condition.

NEW QUESTION 187
Using the Time-series table, create a cross tab showing the Sales for each Item Number- ID, broken down by Assortments, then add Grand totals to the view.
Which Item Number ID made the maximum sales across all assortments?

A. 584
B. 901
C. Correct)
D. 205
E. 660

Answer: B

Explanation:
Explanation Follow along the steps below:
? Drag Assortment and Year ID to the column shelf, and Item Number ID to the row shelf. Next, drag Sales to the Text label to create a cross-tab as below:

NEW QUESTION 188
What are two requirements to combine two tables by using a union? Choose two.

A. Related fields must have matching data types.

B. Related fields must have different names.

C. The tables must come from different connections.
D. The tables must have the same number of fields.

Answer: AD
Explanation:

To perform a union in Tableau, the tables must have a related field with matching data types, and they must have the same number of fields. This allows the
tables to be appended vertically in the data source. Different names or tables from different connections do not affect the ability to union the tables.
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NEW QUESTION 190
Dragging a to colour creates distinct colours for each item whereas dragging a to colour creates a gradient

A. Discrete value, Continuous Value
B. Geographic Value, Discrete Value
C. Continuous Value, Discrete Value
D. Longitude, Latitude

Answer: A

Explanation:

Remember that dragging a discrete value to colour creates distinct colours for each item whereas dragging a continuous value to colour creates a gradient. ( Same
for Map )

From the official documentation:

Categorical Palettes

When you drop-a leld with discrete values (typically a dimension) on Color on the Marhs card, Tableau uses a categorical
|m|ul.1u and assigs a coldor to each value of the Reld. Cat |.-,51:||:|l_4| |:|..'.'.4.'1[r.'s contain disting coloes that are .l.":lFI:II.Ji!riqlf,' Fo

fiedds with values that have no inherent order, such as departments or shipping methods,

To change calors for values of a fleld, click in the upper-right corner of the color legend. In Tableau Desktop, select Edit
Colors from the context metvd. In Tableau Server of Tableau Online, the Edit Colors dialog opens automatically

Tableau Desktop version Web version

Quantitative Palettes

When you drop a field with continuous values on the Marks card (typically 2 measure), Tableaw displays a quantitative

legend with a continuous range of colors.

SLUM{Sales)

You can change the colors used In the range, the distribution of calor, and other properties. To edit colars, click in the
upper right of the color legend. In Tableau Desktop, sclect Edit Colors from the context menu. In Tableau Server or Tableau
Cnline, the Edit Colors dialog opens automnatically.

When there are hoth negative and positive values for the field, the default range of values will use twa caolor ranges and the
Edit Colors dialog box for the field has a square color box on either end of the range. This is known as a diverging palette.

Reference: https://help.tableau.com/current/pro/desktop/en-us/viewparts_marks_markproperties_color.htm

NEW QUESTION 191
Given a map, which of the following fields can be placed on Size,Shape,Detail,Color

A. Region, Country, Profit, State

B. Sales, State, Country, Profit

C. Profit, State, Number of Records, Sales
D. Longitude, Country, State, Sales

Answer: B

Explanation:

Since Sales is a measure, it can easily be depicted via size.

To drill down and change the level of detail, Country is the correct choice since it

will contain STATE. We can then depict the various states by different shapes such as circle, square etc.
Finally, the Profit can be depicted via a color! Eg - Red for poor and green for excellent profits!

Reference: https://www.tableau.com/learn/tutorials/on-demand/aggregation-granularity-and-ratio-calculations

NEW QUESTION 192
Which of the following are valid ways to make the font more readable in Tableau?
A. Decrease the font size

B. Don't use backgrounds
C. use a clear and readable font
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D. Make the Font color sharper / darker than the background
E. Increase the font size

Answer: CDE

Explanation:

This is one of the most common questions on the Tableau Desktop Specialist Exam. Wrong options -

1) Don't use backgrounds - This is not a solution. What if we want to use backgrounds? We can't just stop using backgrounds to solve this problem.
2) Decrease the font size - Do you think using a smaller font will make the text more readable? No right? Hence, this is wrong too.

All other options are ways recommended to make your text more readable!

NEW QUESTION 196
contains the visualisations, info needed to build the visualisations, and a copy of the data source.

A. Tableau Data Extract (.tde)

B. Tableau Packaged Workbook (.twbx)
C. Tableau Bookmark (.tbm)

D. Tableau Workbook (.twb)

Answer: B

Explanation:

TWBX is all in one. It contains viz, info needed to build the viz, and a copy of the data source. It doesn’t contain extracts of the data but can contain both live and
data extracts. Best if want to eliminate the barrier of data access.

Create a .twbx with file-based data sources

1) Select File > Save As.

2) Specify a file name for the packaged workbook in the Save As dialog box.

-

¢ Favorites _Ellr::.r: uments library A Y
Bl Desktop Workbooks
& Downloads L P [
2| Recent Places = |
dics [#] Coffee Analysis.twb
.;ﬂ High Value Custermers.twh
) Libraries
*| Documents
o Music '
| Pictures
M videos il [| s d
File name: GDP Data -
Save as type: | Tableau Workbook (% bwh) -']

Tableau Waorkbook (*.twb])

= Hide Folders

L

3) Select Tableau Packaged Workbooks on the Save as type drop-down list.

4) Click Save.

5) The default location is the Workbooks folder of the Tableau repository. However, you can save packaged workbooks to any directory you choose.
The following files are included in packaged workbooks:

--> Background images

--> Custom geocoding

--> Custom shapes

--> Local cube files

--> Microsoft Access files

--> Microsoft Excel files

--> Tableau extract files (.hyper or .tde)

--> Text files (.csv, .txt, etc.)

Reference: https://help.tableau.com/current/pro/desktop/en-us/environ_filesandfolders.htm

NEW QUESTION 198
A dual axis chart is useful for comparing two measures that

A. have different scales

B. have little in common

C. are Table Calculations

D. are aggregated Dimensions

Answer: A

Explanation:

A dual axis chart is useful for comparing two measures that have different scales. A dual axis chart is a type of visualization that shows two measures using two
independent axes layered on top of one another. A dual axis chart allows you to compare and contrast two measures that have different ranges or units of
measurement, such as sales and profit margin, temperature and precipitation, or population and GDP per capita. A dual axis chart can also show different mark
types for each measure, such as bars and lines, circles and areas, or shapes and texts. The other options are not valid reasons for using a dual axis chart for
comparing two measures. Have little in common is not correct, because a dual axis chart is meant to show some kind of relationship or correlation between two
measures, not just contrast them. Are Table Calculations is not correct, because a dual axis chart can be used with any type of measure, whether it is an
aggregation, a calculation, or an expression. Are aggregated Dimensions is not correct, because a dual axis chart cannot be used with dimensions, only with
measures. Dimensions are fields that contain qualitative values that are used to categorize or segment data, not compare them.
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NEW QUESTION 199
What do the colours Blue and Green represent in Tableau?

A. Discrete and Continuous
B. Measures and Dimensions
C. Continuous and Discrete
D. Dimensions and Measures

Answer: A

Explanation:

Important question! If you selected Dimension and Measure, don't worry! It is a very common mistake. But we're here to learn aren't we?

When you connect to a new data source, Tableau assigns each field in the data source as dimension or measure in the Data pane, depending on the type of data
the field contains. You use these fields to build views of your data.

Blue versus green fields

Tableau represents data differently in the view depending on whether the fisld is discrete (blue), or continuous (green).
Continuous and discrete are mathematical terms. Continuous means "forming an unbroken whole, without interruption”;
discrete means "individually separate and distinct.”

« Green measures and dimensions are continuous. Continuous field values are
treated as an infinite range. Generally, continuous tields add axes to the view.

* Blue maasures and dimensions are discrete. Discrete values are treated as
finite. Generally, discrete fields add headers ta the view.

Possible combinations of fields in Tableau

This table shows examples of what the different fields look like in the view. People sometimes call these fields "pills", but
we refer to them as "flalds" in Tableau help documentation.

Discrete Dimensions

Continuous Dimensions (dimensions with a data type ASEEERES
of String or Boolean cannot be continuous)

Discrete Measures L SUMProlt
Continuous Measures L SUMProln)

A wisual cue that helps you know when a field is a measure is that the field is aggregated with a function, which is indicated
with an abbreviation for the aggregation in the fleld name, such as: CIEED T learn more about apggregation,
See List of Predefined Aggregations in Tableau and Aggregate Functions in Tableau.

Bur there are exceptions:

o If the entire view is disaggregated, then by definition no field in the view is apgregated. For details, see How to

Disaggrepate Data,

» 1f you are using a multidimensional data source, fields are ageregated in the dara source and measures fields in the
view do nor show that aggregation.,

Examples of continuous and discrete fields used in a view

I e examipla on the bebr (e iow), because the Quantkry feld i3 set (o Contimuows, it creates 8 horizonial 213 2long the
botterm of the wiew, The rreen backrsowend and the o halp pou 13 see thas (s & contimsous feld

I the exaraple of the righe. the Dpantity fleld has b or ne Diserete. It coeates horizontal headess inatesd of ah sis
‘e lee haelegrenind ardd the homizensal headers help yoinom soe that in's desonee

Cantinuong Thecrete
o OO Soaes DN
‘e CEETE s TR

=

L [ .|||‘||n.....

Jumet 0y

Tn buth exsimples, Use Sales lishd is oot W0 Conlinmous. [L vivales a veitical axis becaise iE viobisvaow s gnd i's beci sdlded o
the Rows shell 1f it was oo the Colurans shell, it weuld create a horizcatal axie The green backgroamd and aggregation

Teenebineny gim s e, SERAT help Do ivdlisde thad i 2 messure

e abhvrne e all an aggrepation fmenon o the Qoandity ficld name belp to imdieate thet 1275 & dimension
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Dimension fields in the view

When vou drag o discrete dimensien ficld to Rows or Columns, Toblecu creates column of row headers.

= e
L Etwgery
B gy Tl e Ty — Chih Flbiders
o L LA

I many cases, fields from the Dimension area will initially be discrete when you add them o 2 view, with a Blue
background Uate dimensions and numene dimensions can be discrete er continuous, erd all measures can be discrete or
continuons.

Afver you drag ¢ dimension o Bows or Columms, you can change the field te a measure just by clicking the ficld and
chusssing Measure. Now Che view will contain a continueus axs instead of column or mow headers, amd e fickd's

background vAall become green;

l B i e O gy

_— Continuous &xis

Date dimensions can be discrete or conbinuous. LIMens:ons contoming sirings or Boolean valucs carmot be contimuous.,

Reference: https://help.tableau.com/current/pro/desktop/en- us/datafields_typesandroles.htm

NEW QUESTION 201
Which of the following are valid ways to italicize Tooltip content in Tableau?

A. Click on Format in the Menu bar, choose Font, and then edit the Tooltip options to italicize the font
B. Click on Tooltip in the Marks card, select the text, and then use the Italics option

C. Click on Worksheet in the Menu bar, select Tooltip, and then use the italics option

D. Click on Dashboard in the Menu bar, select Tooltip, and then use the italics option

Answer: ABC

Explanation:
The only incorrect option is - Click on Dashboard in the Menu bar, select Tooltip, and then use the italics option.
This option doesn't exist. See below:

Dashboard Story Analysis Map Format
Mew Dashboard

Device Layouts

v Add Phone La:;ruuts to New Dashboards

The rest of the options do exist, and therefore are correct:
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Format Server Window Help

Workboolk...

Font...
Alignment...
Shading...
Borders...
Lines...

Worksheet Dashboard Story

New Worksheet #ET
Copy
Export
Clear
Actions...
Tooltip...
Format Font * | Pages
A= & B = Fields =
— Shest Rows Columns ~— | Filters
Default iéﬁ
Worksheet: Anal, 8pt "
Pane: Aral, 8pt
Marks
Header: Arnal, 8pt
aoll »
Tooltip:  Arial, 10pt =
- =
Title:  |Arfal B
Total o @e|[7][y ]
[ ] i
e |
Header:
TLITH
.
Grand Total [
SEEEENEEEERE '
Pane: | More colors... |
® @ Edit Tooltip
Arial B Bisz]u//mm- == = [nser-|X]
ﬁ"""I""'E"]"B"1”4f”I"E"I
Country / Region: <Country / Region>

Profit:  <SUM(Profit)>
Sales: <SUM(Sales)>

¥ show tooltips Respansive - Show tooltips instantly _
Include command buttons

Allow selection by category |

Reset Preview Cancel OK |
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NEW QUESTION 203
How can you add color to marks in the view in Tableau?

A. Click on Data in the main menu above, and click on choose color.

B. From the Data pane, drag a field to Color on the Marks card.

C. In the column/row shelf, right click the field and click on edit in shelf to select the color.
D. From the Analytics pane, drag a model to Color on the Marks card.

Answer: B

Explanation:

To assign a color to marks in the view, do the following: From the Data pane, drag a field to Color on the Marks card.

Tableau applies different colors to marks based on the field's values and members. For example, if you drop a discrete field (a blue field), such as Category, on
Color, the marks in the view are broken out by category, and each category is assigned a color.

If you drop a continuous field, such as SUM(sales), on Color, each mark in the view is colored based on its sales value.

NEW QUESTION 206
You want to provide additional information when hovering over a field in the Data pane as shown in the following exhibit.
What should you configure for the field?

A. An alias

B. A header label

C. A hierarchy

D. A default comment

Answer: D

Explanation:

To provide additional information when hovering over a field in the Data

pane, as shown in the exhibit, you need to configure a default comment for the field. This comment can be set by right-clicking on the field in the Data pane and
selecting "Default Properties" and then "Comment." The text entered as a comment here will then be displayed as a tooltip when hovering over the field in the Data
pane.

NEW QUESTION 210
True or False: It is possible to add a field to more than one hierarchy

A. True
B. False

Answer: A

Explanation:
Yes! It is possible to duplicate a field and add it to more than one hierarchy. Right click and choose duplicate.
Reference: https://www.tableau.com/about/blog/2016/8/take-note-these-10-handy-tableau- shortcuts-57561

NEW QUESTION 212
In which of the following scenarios would having a live connection be more beneficial than using an extract?

A. Analyzing real time stock prices

B. Analyzing real time data from production systems

C. Analyzing historical housing prices

D. Analyzing and tracking real time flight updates

E. Analyzing a subset of a dataset having 1 billion rows

Answer: ABD

Explanation:

Extracts would be more beneficial for analyzing historical prices where we won't be making use of any real time data being streamed. Same is the case for
enormous datasets having billions of rows (extracts will be more efficient in analyzing subsets of such large data).

As for live stock prices, flight updates, real time updates from production or mission critical systems - having a live connection is the most logical choice, since we
need access to the most fresh and recent data possible at all times!

NEW QUESTION 216
Is it possible to make a Measure discrete?

A. No
B. Yes

Answer: B
Explanation:

Of course! Follow along:
Right click on any measure, and choose Discrete as shown:
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iii Columns SUM(Sales) -

= Rows Filter...
Show Filter
Sheet1 Format...
Order Priori.. v ISH?WdH?EI_:IrEr .
critical Y NCMES W 1 00D
Hah [l Dimension =
Lew I Attribute
weziun [l Measure (Sum) » [

OR Discrete L

+ Continuous
Edit in Shelf

Add Table Calculation...
Quick Table Calculation (3

Remove

Once you do this, the green pill becomes blue in colour, indicating that it is now Discrete!

iili Columns SUM(Sales)
= Rows Order Priority

Sheet 1
Sales
Order Priori.. 567,82.. 986,23.. 3,807,5.. 7,280,8..
Critical Abc
High Abec
Low Abc
Medium Abc

Reference: https://help.tableau.com/current/pro/desktop/en- us/datafields_typesandroles.htm

NEW QUESTION 221
Which of the following is a benefit of using a Tableau Data Source (.tds)?

A. To hold one or more worksheets, plus zero or more dashboards and stories.

B. To not contain the actual data but rather the information necessary to connect to the actual data as well as any modifications you've made on top of the actual
data such as changing default properties, creating calculated fields etc

C. To create a single zip file that contains a workbook along with any supporting local file data and background image

D. This is great for sharing your work with others who don’t have access to the original data.

E. To create a local copy of a subset or entire data set that you can use to share data with others, when you need to work offline, and improve performance.

Answer: B

Explanation:

The following are the official definitions from the Tableau documentation for the various file types:

1) .tds (Tableau Data Source) - To not contain the actual data but rather the information necessary to connect to the actual data as well as any modifications
you've made on top of the actual data such as changing default properties, creating calculated fields etc. (CORRECT ANSWER)

2) .twbx ( Tableau packaged workbook) - To create a single zip file that contains a workbook along with any supporting local file data and background images. This
is great for sharing your work with others who don’t have access to the original data.

3) Extract (.hyper or .tde) — To create a local copy of a subset or entire data set that you can use to share data with others, when you need to work offline, and
improve performance.

3) (.twb) Workbooks — To hold one or more worksheets, plus zero or more dashboards and stories.

Reference: https://help.tableau.com/current/pro/desktop/en-us/environ_filesandfolders.htm

NEW QUESTION 226

You create a crosstab that shows a list of 100 hotel chains alongside their average nightly cost. You also create two groups showing, respectively, the top 10 and
bottom 10 hotel chains by cost, with subtotals.

What should you do to improve the crosstab and compare the two groups to all the

remaining hotel chains?

A. Include an Other group.

B. Include the Summary card.

C. Color encode the hotel chain names.
D. Create a new view.

Answer: A

Explanation:

According to the Tableau Help, one of the ways to improve a crosstab is to “Include an Other group”. The help also states that “If you have a large number of
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members in a dimension, you can create groups to combine low-frequency members into an Other group. This can help you focus on the most relevant data and
reduce clutter in your view” (page 2).

NEW QUESTION 230
is useful when you need to change how the data source is configured on a sheet-by-sheet basis, and when you want to combine databases that don’t

allow relationships or joins

A. Union

B. Data Joining

C. Data segregation
D. Data Blending

Answer: D

Explanation:

Data blending is performed on a sheet-by-sheet basis and is established when a field from a second data source is used in the view. To create a blend in a
workbook already connected to at least two data sources, bring a field from one data source to the sheet—it becomes the primary data source.

Switch to the other data source and use a field on the same sheet—it becomes a secondary data source. An orange linking icon will appear in the data pane,
indicating which field(s) are being used to blend the data sources.

According to the official Tableau Documentation:

Data blending

When you use data blending to combine your datza, you combine data in what is called a primary data source with

common flelds from one or more secondary data sources.

Data blending is useful when vou need to change how the data source is configured on a sheet-by-sheet basis, when you

want to combine databases that don't allow relationships or joins

such as cube data sources or Published Data Sources.

The result of combining data using data blending is a virtual table that extends herizontally by adding columns of data.

The data from each data source will be aggregated to a common level before being displayed together in the visualizadon.

&I.-i_..

To read more about Data Blending, click on THIS link.

NEW QUESTION 231
Using the Time Series table, create a cross-tab showing sales for each Assortment broken down by Year and Quarter. In Q4 of October 2017, what was the
Average sales amount for the Hardware assortment?

A. 111,060
B. 1,461
C. 112,256
D. 1,222

Answer: C

Explanation:

If you chose 111,060 you were SO close to the correct answer but made a small mistake - you didn't change the aggregation to AVERAGE! This is one of the
common mistakes many test takers make, so keep this in mind.

To reach the correct answer, follow the steps below:

1) Draw Assortment to the Column shelf, and drag Year to the Rows Shelf. Then Drill down further on Year to accomodate Quarters and Months as well!
Although this seems enough, DON'T FORGET to change the aggregation like in the next step, which will completely change the values!
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pine i Cournns

Rowis E YEAR{Week 1D)

Assortment

Electro.. Hardwa..

TS Sheet 1
Year of We.. Quarterof.. Monthof W,
Marks 2017 01 Ephruary 5B271
rrarch 111,509
[Z] Automatie - 0z poe 108,379
L & | hlay 110,037
Color Sirn Tt Juné 144,043
T = 03 ily 104,255
o "_:;m August 100,067
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= M Dctober 87,730
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May 121,737
Juna 143 11>
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st 135,252
Soptamber 56,002
B R
| Filter... SpLamby
2 Q4 October
Show Filter Movember
Format... DAcemLer
v Include in Tooltip 5 - BnLRR
Dimension Average
Attribute Median

v Measure (Sum) > Count
Count (Distinct)

Discrete
' Continuous Minimum
Maximum
Edit in Shelf Percantile
Std. Day

Add Table Calculation...
Quick Table Calculation >

B | Variance
Remove Wariance (Pop.)

ales L‘;

[

Std. Dev (Pop.)

? The correct answer as you can see is 1,461 - Sales for Harware Assortment in 2017 Q4, October

NEW QUESTION 234

b5.439
135144
127.070
151,224
168,055
12b.25S
118235
145291
111,060

21,134
100,605

63,432

76,747
119,418
105,832
128,335
161214
129,203
152379

91,658

1 GUARTER(Woek ID)

Phonas

63,729
126,051
121877
125,732
153,538
120603
115,633
140,634
112,286

Q4012
102,332

62,887

77124
121,260
113,588
111729
165674
132801
159,359
103.091

What two methods can you use to change the font of a worksheet title? Choose two.

A. Double-click the title in a particular view and use the dialog box.

B. Right-click the title in a view, and then select Format Title.

C. Select Format on the menu, and then select Font.
D. Select Format on the menu, and then select Title and Caption.

Answer: AD

Explanation:

H MONTHWeok 1D)

In Tableau, you can change the font of a worksheet title by double-clicking directly on the title in the view, which opens a dialog box where you can format the text,
including changing the font. Another method is to use the Format menu; from there, you select "Title and Caption," which opens the Format Title pane on the left

side of the screen, where you can change the font and other formatting options for the worksheet title.

NEW QUESTION 237

We can use as a static tool to open and interact with packaged workbooks with extracted data sources that have been created in Tableau Desktop.

A. Tableau Reader
B. Tableau Online
C. Tableau Server
D. Tableau Desktop

Answer: A

Explanation:
The word 'static tool' gives it away.
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According to the official website :

Use Tableau Reader to open and interact with packaged workbooks with

extracted data sources that have been created in Tableau Desktop.

A packaged workbook contains a copy of the data source that the workbook
references, so that you don't need to have access to the source data to see and
interact with the views. With Tableau Reader, you can:

» Open and interact with Tableau workbooks
e Present views as a slideshow

e Export views or data

e Print views

s Publish views as PDF files

Reference: https://help.tableau.com/current/reader/desktop/en-us/reader_welcome.htm

NEW QUESTION 240
Which of the following can help us focus on specific data without removing data in the visualization?

A. Highlighters
B. Sets

C. Clusters

D. Filters

Answer: A

Explanation:
From the official documentation:

When you have a view with a large amount of data you might want to explore your data interactively and highlight a specific mark or group of marks while still

maintaining the context of where those marks show in your view.

To do this you can turn on the Highlighter for one or more discrete fields that are included in your view and that affect the level of detalil

Example - Here we just want to focus on Public Affairs college dimension, but don't want to filter out or remove the rest of the data:

it v cr (I
Callage =
Cral |"5|r- Adminsinns
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s Ess
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e
L
B £ ]
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G e . .. __'-1_-. - g
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Note that filtering is not the correct option since that would REMOVE the data that doesn't match the filtering criteria.

Reference : https://help.tableau.com/current/pro/desktop/en- us/actions_highlight_highlighter.htm
NEW QUESTION 242

How can you format an axis as Bold in Tableau?

A. By choosing the axis and selecting Command/Control + B on your keyboard

B. By right clicking on the axis, choosing Edit Axis, and then setting its font to bold.

C. By right clicking on the axis, choosing format, and then setting its font to bold.

D. By clicking on Format on the main menu bar, choosing field labels, and setting it to bold.

Answer: C

Explanation:
To make an axis bold, simply right click it, select format, and then click on Font to choose Bold:
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Read more about editing axis: https://help.tableau.com/current/pro/desktop/en- us/formatting_editaxes.htm

NEW QUESTION 244
You want to save a view as an image that you can paste into a Microsoft Word document. Which two statements accurately describe exporting a view as an
image? Choose two.

A. Default exports include everything in the view, including Tableau fonts.

B. The default export format is TIFF.

C. The default export format is PNG.

D. The exported image is a vector-based file that embeds the Tableau fonts.

Answer: AD

Explanation:

When exporting a view as an image in Tableau, the default export includes everything that is currently displayed in the view, with Tableau applying its own styling,
including fonts. The default format for an exported image is PNG, which is a raster-based file format that captures all visual elements as pixels. PNG is widely used
for its lossless compression and is suitable for detailed images like those produced by Tableau. Unlike vector-based images, PNGs do not embed fonts, and the
image quality remains consistent when the image is viewed on different platforms, which makes it ideal for inserting into documents like Microsoft Word.

NEW QUESTION 248
is a method for appending values (rows) to tables. You can use this method if both tables have the same columns. The result is a virtual table that has the
same columns but extends vertically by adding rows of data.
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A. Joining

B. Blending
C. Combining
D. Unioning

Answer: D

Explanation:
Unioning is the correct answer! From the official documentation:

Union

Uniening is a method for appending values (rows) to tables. You can union tables if chey have the same columns, The
result of combining data using a unlon Is a virtual table that has the same colurmnns but extends verdcally by adding rows
of data,

+ - y
For example, suppose you have the following customer purchase information stored in three tables, separated by month. The table names are "May2016" ,
"June2016" and "July2016."

Mayzo16 Juneao1é Julyzon6
CASTOM | PURCHA CUBTOM | PURCHA CUSTOM  PURIHA
Dy I'Y#E DAY 1fPE DAY TYPE
re 5F5 FR 5F5 rr ars
3 Lamis 3 Croie 1 Liza 1 Credit 2 Marin 2 Cradie
10 Chris & Craiy 28 Isaac 4 Cash 15 Wi 1 Cazh
25 Juan 1 Credit 28 Sarmh a Credit E| Jim 7 Cazh

Aunion of these tables creates the following single table that contains all rows from all tables,

Unizn
ew CUSTOAAE I MURCHASES Teire
Lane 5 Credit
10 Chris & Credit
28 Juan 1 Credit
1 Lisa 3 Credit
2B Tsaac 4 Cash
28 Sam 2 Credit
2 Maria 2 Credit
15 Wei 1 Cash
E Jim T Cash

Reference: https://help.tableau.com/current/pro/desktop/en-us/union.htm

NEW QUESTION 253
Which of the following 2 columns CANNOT be deleted in Tableau?

A. Measure Names

B. Number of Records
C. Measure Values

D. Calculated Fields

Answer: AC

Explanation:
Measure names and values CANNOT be deleted in Tableau like other columns can. These are auto-generated.
Calculated Fields, and Number of records can both be deleted.

NEW QUESTION 257
Which of the following are stored in a .tds file? Choose 3.

A. Data Connection information
B. Visualizations

C. Calculated Fields

D. Data Extracts

E. Metadata edits

Answer: ACE

Explanation:
If you've created a data connection that you might want to use with other workbooks or share with colleagues, you can export (save) the data source to a file. You
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might want to do this also if you've added joined tables, default properties, or custom fields—such as groups, sets, calculated fields, and binned fields—to the Data
pane.

You can save a data source to either of the following formats:

)
45

Data Source (.tds) - contains only the information you need to connect to the data

source, including the following:
« Data source type

« Connection information specified on the data source page; for example, database server

address, port, location of local files, tables
« Groups, sets, calculated fields, bins
« Default field properties; for example, number formats, aggregation, and sort order

Use this format if everyone who will use the data source has access to the underlying file or
database defined in the connection information. For example, the underlying data is a CSV file
on your computer, and you are the only person who will use it; or the data is hosted on a cloud
platform, and your colleagues all have the same access you do.

Visualisations and Data extracts are NOT saved in a .tds file!
Reference: https://help.tableau.com/current/pro/desktop/en-us/export_connection.htm

NEW QUESTION 258
True or False: Trend lines can only be used with numeric or date fields

A. True
B. False

Answer: A

Explanation:

You can show trend lines in a visualization to highlight trends in your data.

To add trend lines to a view, both axes must contain a field that can be interpreted as a number. For example, you cannot add a trend line to a view that has the
Product Category dimension, which contains strings, on the Columns shelf and the Profit measure on the Rows shelf.

However, you can add a trend line to a view of sales over time because both sales and time can be interpreted as numeric values.

Reference: https://help.tableau.com/current/pro/desktop/en-us/trendlines_add.htm

NEW QUESTION 260

Using the Geo Data Table, create a Map showing Sales made per State. For the State of New York (NY), what was the amount in Sales ($) made for Phone
Assortments with White color?

A. $16,581
B. (Correct)
C. $147,950
D. $48,115
E. $33,768
Answer: A
Explanation:
Phew! Tricky one! You needed to use filters in this one. Follow along:
Pages il Columvs
= Fows
e Sheet 1
&
- I - =
. s
Al [ = = fo .t 1’
-. Sie e '..l-'t."
. @ L] L e
e .. e y
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2) Next, as the question mentions, we need to focus on the Assortment PHONE, the color WHITE, and the state of NEW YORK. -> so we use filters for this!
i) First drag Assortment to Filters, and select only Phones :

® @ Filter [Assortment]

Wildcard  Condition Top

@ Select from list  Customn value list  Use all

Enter search text |
D Electranics

|:| Hardware

Phones

ii) Next, drag Color to Filters and Choose only White:
® @ Filter [Color]

General BR[N] Condition Top

OS«EIect from list ' Custom value list  Use all

I-_mm search text

D Blue
[ ] Red
White
iii) Next, drag State ID to Filters, and choose New York (NY):
® @ Filter [State ID]

Wildcard  Condition Top

© Select from list  Custom value list  Use all

| Enter search text

[no
[ nE
[ InNH
[(Ing
L] nm
[Ny
[ ny
Marks
O Automatic v
44 &
Color Size Label
DEEI Q
Detail Tooltip

SUM(Sales ($))

And Voila! We have our answer as follows:

—,

e

=4 =
b )

e
ey

Nm’.’ork l

i 16581 [ wa

! —

B
Pennsylvania /\\ ;

iv) Last, drag Sales to Label:

NEW QUESTION 262
Which of the following chart type makes use of 'binned' data?
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A. Gantt Chart
B. Bullet chart
C. Histogram
D. Treemaps

Answer: C

Explanation:
A histogram is a chart that displays the shape of a distribution. A histogram looks like a bar chart but groups values for a continuous measure into ranges, or bins.

The basic building blecks for a histegram are as {ollows:

Marlk type: Automatic
Bows shelf: Continuous measure (aggregated by Count or Count Distinct)
Columns shelf: Bin {continuous or discrete).

Note: This bin should be crealed from (he continuows measure on the Bows shell For rore
information on how to create a bin from a contimous measure, see Create Bins from a Continuous

AL

Reference: https://help.tableau.com/current/pro/desktop/en- us/buildexamples_histogram.htm

NEW QUESTION 263
Which of the following are FALSE about Joins?

A. Joins can be defined at the time of query dynamically

B. May drop unmatched measure values

C. They are displayed with Venn diagram icons between physical tables
D. Joined tables are never merged into a single table.

E. They are a more dynamic way than relationships to combine data

Answer: ADE

Explanation:

According to the official documentation:

Joins are a more static way to combine data. Joins must be defined between physical tables up front, before analysis, and can’t be changed without impacting all
sheets using that data source. Joined tables are always merged into a single table. As a result,
sometimes joined data is missing unmatched values, or duplicates aggregated values.

Joins -

1) Are displayed with Venn diagram icons between physical tables

2) Require you to select join types and join clauses

3) Joined physical tables are merged into a single logical table with a fixed combination of data
4) May drop unmatched measure values

5) May duplicate aggregate values when fields are at different levels of detail

6) Support scenarios that require a single table of data, such as extract filters and aggregation
Reference: https://help.tableau.com/current/online/en-
us/datasource_relationships_learnmorepage.htm

NEW QUESTION 266
Larger image
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- | Category
v & Country, State, City
Country
State
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A Customer 1D

B & &

ahe  Customer Name

abc  Market
= Order Dale
abz  Order ID
abc  Order Pricrity
Abc Product ID
abc  Product Mame
Abz  Region
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# Discount
£ Profit
= Quantity
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= Shipping Cost
{ atitude (zenerated)
Longitude (generaled)

! Mumber of Racords
=  Measwre Values

What is this view referred to as in Tableau?

A. Analytics Pane

B. Window Pane

C. Data Pane

D. Dimensions & Measures

Answer: C

Explanation:

Tableau displays data source connections and data fields for the workbook in the Data pane on the left side of the workspace.

The Data pane includes:

Dimension fields — Fields that contain qualitative values (such as names, dates, or geographical data). You can use dimensions to categorize, segment, and reveal
the details in your data. Dimensions affect the level of detail in the view. Examples of dimensions include dates, customer names, and customer segments.
Measure fields — Fields that contain numeric, quantitative values can be measured. You can apply calculations to them and aggregate them. When you drag a
measure into the view, Tableau applies an aggregation to that measure (by default). Examples of measures: sales, profit, number of employees, temperature,
frequency.

For more information on what dimensions and measures are, see Dimensions and Measures, Blue and Green.

Calculated fields — If your underlying data doesn't include all of the fields you need to answer your questions, you can create new fields in Tableau using
calculations and then save them as part of your data source. These fields are called calculated fields.

For more information on calculated fields, see Create Custom Fields with Calculations. Sets — Subsets of data that you define. Sets are custom fields based on
existing dimensions and criteria that you specify. For more information, see Create Sets.

Named sets from an MS Analysis Services server or from a Teradata OLAP connector also appear in Tableau in this area of the Data pane. You can interact with
these named sets in the same way you interact with other custom sets in Tableau.

Parameters — Values that can be used as placeholders in formulas, or replace constant values in calculated fields and filters. For more information, see Create
Parameters. Reference: https://help.tableau.com/current/pro/desktop/en- us/datafields_understanddatawindow.htm

NEW QUESTION 271
You need to create a calculation that returns a customer name followed by a comma, a space, and then the customer's age (for example: John Doe, 32).
What should you include in the calculation?

A. [Customer Name] + "," + "STR[Age]"

B. STR([Customer Name]) + "," STR("Age")
C. "Customer Name," + [Age]

D. [Customer Name] +"," + STR([Age])

Answer: D
Explanation:
According to the Tableau Desktop Specialist Exam Readiness, to create a calculation that returns a customer name followed by a comma, a space, and then the

customer’s age, you should use the formula [Customer Name] + “,” + STR([Age]). This is because you need to concatenate strings using the + operator, and
convert the numeric field [Age] to a string using the STR() function.

NEW QUESTION 273
What statement correctly describes a requirement to create a reference line in Tableau?
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A. One of the axis must contain a dimension.

B. One of the axis must contain an aggregated measure.

C. The reference line must be created on a continuous axis.
D. The reference line must be paired with a date field.

Answer: B

Explanation:
In Tableau, to create a reference line, one of the axes in the view must contain an aggregated measure. Reference lines are typically used to add context or
additional information to the data in a view, and they are often based on some form of aggregate such as the average, median, sum, etc., of a measure.

NEW QUESTION 277
What term is used to describe the following picture?

- Country / Region, St... ~

@ Country / Region
@ State

@ City

A. Larger image
B. Parameter
C. Set

D. Hierarchy

E. Group

Answer: C

Explanation:

When you connect to a data source, Tableau automatically separates date fields into hierarchies so you can easily break down the viz. You can also create your
own custom hierarchies. For example, if you have a set of fields named Region, State, and County, you can create a hierarchy from these fields so that you can
quickly drill down between levels in the viz.

Reference: https://help.tableau.com/current/pro/desktop/en-us/qs_hierarchies.htm

NEW QUESTION 278
Which two options can you use to change the device layout of a dashboard? Choose two.

A. The Dashboard pane
B. The Format menu
C. The Dashboard menu
D. The Layout pane

Answer: AD

Explanation:

You can change the device layout of a dashboard by using the Dashboard pane or the Dashboard menu. The Dashboard pane allows you to select a device type
and customize the layout for that device. The Dashboard menu allows you to create a new device layout or copy an existing one. The Format menu and the Layout
pane do not have options for changing the device layoutl

NEW QUESTION 280

DOWNLOAD THE DATASET FROM:

https://drive.google.com/drive/folders/IWXzqsrNmXVdmQ- 574wld4InEplyKT8RP?usp=sharing (if you haven't already)
Using the cwurData table, plot a Map to see which country had the Second highest number of patents in the Year 2013?

A. United States
B. France

C. United Kingdom
D. Canada

Answer: B

Explanation:

Follow along to get the correct Answer

? Drag Country to the view, and then Patents to the Size Mark on the Marks shelf as follows :

2) But, this isn't all right? We need to focus on the year 2013. This can be done by using the year column as it is (continuous) in the filter shelf, or by converting it to
discrete first and then using it:

* 2.1 As it is (continuous)
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3) We can now see that France, with 485 has the 2nd most number of patents for the year 2013
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NEW QUESTION 281
To customize links based on the data in your dashboard, you can automatically enter field values as in URLs
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A. parameters
B. sets

C. values

D. inputs

Answer: A

Explanation:

A URL action is a hyperlink that points to a web page, file, or other web- based resource outside of Tableau. You can use URL actions to create an email or link to
additional information about your data. To customize links based on your data, you can automatically enter field values as parameters in URLSs.

Read more in depth at : https://help.tableau.com/current/pro/desktop/en-us/actions_url.htm

NEW QUESTION 284

Which type of date filter can you use to choose a range of dates based on TODAY ()?

A. Range of dates
B. Relative dates
C. Ending date

D. Starting date

Answer: B

Explanation:

The relative date filter can be used to select a range of dates relative to the current date, such as the past month, the current quarter, etc. This filter type

dynamically adjusts the range based on the current system date, making it suitable for use with the TODAY () function.

NEW QUESTION 288

Using the dataset provided, create a crosstab showing the Profit of each Region per Year, then add grand totals to the view. What was the total Profit for Canada
in 2012 and the total Profit for Canada for 2011 through 2014, respectively?

A. 5,129 and 88,872
B. 52,678 and 311,404
C. 1,807 and 34,571
D. 4,888 and 17,817

Answer: D

Explanation:

To reach the correct answer, follow these steps:
1) Drag Order Date (Discrete Year) to the Column shelf, and Region to the Row Shelf as shown:

jii Columns @ YEAR(Order Date)

2) Drag Profit to Text in the Marks Shelf as shown:

Marks
El Aultormals L
4+ & i
Colow Sire Tt
aes i"—-,r-'-l
Dt Toaltip

gl sucoi )

3) Click on Analysis as shown -> Totals -> SELECT ROW GRAND TOTALS The following will be the final view:

Order Date
Region 2011 2012 2013 2014 Grand Total
Africa 10,944 11509 26,687 29,331 88,872
Canada 1,807 4,888 2,18 5,993 17,817
Caribbean 4,359 8,706 8.574 12,533 34,571
Central 57678 63617 97,385 §7 724 311,404
Central Asia 22,846 28,977 33108 47547 122,480
East 17,060 21,091 20177 33,1595 91,523
EMEA 5,280 5420 10,5948 22,600 43,898
North 35866 50,906 51,167 £6.658 194,598
North Asia 35,513 28,020 49274 E2.770 165,578
Oceania 21429 29.675 27553 31,432 120,089
South 17.849 30,975 39,755 51.776 140,356
Southeast Asia 3.243 2,738 3,166 8.705 17,852
West 20,066 20,492 23960 43501 108,418

You could also Filter by Region to only Focus on Canada, but that's your choice:
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Filters

Sheet 2
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Order Date
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Marks Canada 1.B07 4,888 5,129 5893 17,817
z Automatc -
$ || o || @
Calar Eize Tet
L:‘_'F —qj
Detail looltip

B oo

THEREFORE, 2012 = 4,888
2011 -> 2014 = 17,817

NEW QUESTION 290
Which two types of fields appear blue? Choose two.

A. Continuous measures
B. Discrete measures

C. Continuous dimensions
D. Discrete dimensions

Answer: BD

Explanation:

Discrete measures and discrete dimensions appear blue in Tableau. Discrete fields are those that have a finite number of distinct values, such as names,
categories, or dates. Discrete fields are usually used to create headers or labels in the view. Blue fields indicate that the field is discrete. Continuous measures and
continuous dimensions appear green in Tableau. Continuous fields are those that have an infinite range of possible values, such as numbers or ratios. Continuous
fields are usually used to create axes or color gradients in the view. Green fields indicate that the field is continuous1

NEW QUESTION 293
By default, measures placed in a view are aggregated by

A. COUNT

B. AVERAGE
C. MEDIAN
D. SUM

Answer: D

Explanation:

By default, measures placed in a view are aggregated by SUM, which means that the data for that field in all of the rows is combined. Measures can also be
aggregated as average, median, count, or count distinct.

Reference: https://help.tableau.com/current/pro/desktop/en-us/calculations_aggregation.htm

NEW QUESTION 295
When is an axis created for the visualisation in Tableau?

A. When we drag a measure to the row/column shelf

B. When we drag a dimension to the row/column shelf

C. When we drag a discrete field to the row/column shelf

D. When we drag a continuous field to the row/column shelf

Answer: D

Explanation:

An Individual Axis in Tableau is obtained by adding a continuous into Rows or Columns Shelf.

Example:

In order to show Individual Axis in Tableau First, we drag and drop the Color from Dimension shelf to Column Shelf. Next, we drag and drop the Sales Amount
from measures shelf to Rows Shelf. Since it is a continuous value, the Sales Amount will be aggregated to default Sum. Once you drag them, following Chart
report will be generated.
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Next, we drag and Drop one more measure value, i.e., Total Product Cost from Measures Region to Rows Shelf. Because it is a Measure value, Total Product

Cost is aggregated to default Sum. From the below screenshot, you can observe that Tableau has created an individual axis for each measure (continuous field).
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Reference: https://www.tutorialgateway.org/individual-axis-in-tableau/

NEW QUESTION 296

DOWNLOAD THE DATASET FROM - https://drive.google.com/file/d/1F8L_RI5BILAz8RDi- DdjWx3lv-SgzaBg/view?usp=sharing ( if you haven't already from the
test instructions page! )

How many different countries are present in the dataset?

Answer: B

Explanation:

Explanation

To reach the correct answer, follow these steps:

1) You can simply drag Country to the view, and look at the marks in the bottom left of Tableau Desktop - 147 marks!
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2) Or, you can simply go to Data Source -> Country Tab -> Describe
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) & Describe Field
Country

Role: Discrete Dimension

Type: Database column

Remote column: [Orders (Global 55 ) - Mine.csv].[Country]

Remote type: ANSI/MBCS character string

Contains NULL: No

Locale: United Kingdom(English)

Sart flags: Case-sensitive

Column width: 32

Geographic Role: Country 2 char (IS0 3166-1)

Status: Valid

I Domain (20 of 147 members) I

As you can see, 147 members exist in this Country column!

NEW QUESTION 297
Which of the following situations describe the best reason to use a union?

A. You have two tables with similarly named columns of data that you want to combine.

B. You have two data sets with similar data types for which you want to find only distinct values.
C. You have two tables with differently named columns of data that you want to combine.

D. You have two data sets saved in different formats that you want to unify into a single format.

Answer: A

Explanation:

You should use a union when you have two tables with similarly named columns of data that you want to combine. A union is a method for combining data by
appending rows of one table onto another table. The tables that you union must have the same number of fields, the same field names, and the same data types2

NEW QUESTION 298
Which statement accurately describes an extract when the Physical Tables option is selected?

A. Data is limited to only the Top N of data for the connection.

B. All the data is tolled up to the current visible fields.

C. An individual table is created for each physical table in the extract.
D. Data shown in the Data pane is separated based on the table type.

Answer: C

Explanation:

When the Physical Tables option is selected for an extract in Tableau, an individual table is created for each physical table in the extract. This means that the
extract will include a separate table for each underlying table in your database, maintaining the database's structure within the extract. This can be useful when you
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need to preserve the original granularity of the data or when working with certain database optimizations.

NEW QUESTION 302
You want to update the font of an entire workbook. What should you use to configure the default fonts?

A. The Formal Font pane

B. The Format Workbook pane
C. Field labels

D. Titles and captions

Answer: B

Explanation:

To update the font of an entire workbook in Tableau, you should use the "Format Workbook" pane. This feature allows you to set and modify the default font
settings for the entire workbook, ensuring consistency in font style across all sheets and dashboards. It's a global setting that applies to all visual elements in the
workbook, including titles, captions, axis labels, and other text elements.

NEW QUESTION 303
Which action describes the process for changing a measure so that it automatically aggregates an average instead of a sum?

A. Right-click the field in the Data pane and select Default Properties to change it.
B. Add the field to the view, right-click the axis, and select Format to change it.

C. Right-click the field in the Data pane and select Change Data Type to change it.
D. Right-click and drag the field into the view to change it.

Answer: A

Explanation:

To change a measure so that it automatically aggregates as an average instead of a sum, you should right-click the field in the Data pane and select Default
Properties. In the Default Properties menu, you can set the default aggregation for the measure, such as setting it to calculate an average by default when added
to a view.

NEW QUESTION 305
You want to add Custom shapes to your visualisation. Where can you add these new shapes?

A. In Downloads -> My Tableau Repository -> Shapes

B. In My Computer -> C: -> Tableau -> Shapes

C. In Program Files -> Tableau -> Shapes

D. In My Documents -> My Tableau Repository -> Shapes

Answer: D

Explanation:

Here's how to add image files to your repository:

1) Find image file on the internet. I try to find consistent image formats if | plan to use a set of shapes such as logos or flags.
2) Download the image to your computer.

3) Drag images into your My Documents -> My Tableau repository -> Shapes folder.

4) Open Tableau and your new shapes will automatically be included in your "edit shapes" menu.

Reference: https://www.tableau.com/about/blog/2016/2/how-use-custom-shapes-filters- your-dashboard-50200

NEW QUESTION 309
Tableau will automatically create a hierarchy for which two kinds of data? Choose two.

A. Date & Time
B. Date

C. Geographic
D. String

Answer: AD

Explanation:

Tableau will automatically create a hierarchy for date and geographic data. A hierarchy is a way of organizing data into different levels of detail. For example, a
date hierarchy can have year, quarter, month, and day levels. A geographic hierarchy can have country, state, city, and zip code levels. Tableau recognizes date
and geographic data based on their data types and formats, and creates hierarchies for them by default. Tableau does not automatically create hierarchies for date
& time or string data3

NEW QUESTION 313

Which of the following are benefits of using Data Extracts in Tableau?
A. Improved Performance

B. Ability to use the data offline

C. Working with freshest data at all times

D. Faster to work with

Answer: ABD

Explanation:
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Extracts are advantageous for several reasons:

1) Supports large data sets: You can create extracts that contain billions of rows of data.

2) Fast to create: If you're working with large data sets, creating and working with extracts can be faster than working with the original data.

3) Help improve performance: When you interact with views that use extract data sources, you generally experience better performance than when interacting with
views based on connections to the original data.

4) Support additional functionality: Extracts allow you to take advantage of Tableau functionality that's not available or supported by the original data, such as the
ability to compute Count Distinct.

5) Provide offline access to your data: Extracts allow you to save and work with the data locally when the original data is not available. For example, when you are
traveling.

To work with the MOST up-do-date data, use a live connection instead! Reference: https://help.tableau.com/current/pro/desktop/en-us/extracting_data.htm

NEW QUESTION 318

The row and column shelves contain

A. Pills

B. Grand Totals

C. Filters

D. Parameters

Answer: A

Explanation:

We can drag fields from the Data pane to create the structure for your visualizations.

The Columns shelf creates the columns of a table, while the Rows shelf creates the rows of a table. You can place any number of fields on these shelves.
These FIELDS are also referred to as PILLS. See below:

i Cooe

= Rows SUM(Profit)

Sheet 1

Segment

e aTar

Reference: https://help.tableau.com/current/pro/desktop/en-us/buildmanual_shelves.htm
NEW QUESTION 319

How can you change the Default Aggregation for a measure in Tableau?

A. By changing its properties manually every time we need to use it

B. By right clicking the dimension -> Default properties and choosing Aggregation

C. By right clicking the measure -> Default properties and choosing Aggregation

D. By double clicking on the measure, and then choosing Window -> Default Aggregation

Answer: C

Explanation:
According to the official Tableau documentation:
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Set the default aggregation for a measure

You can specify a default aggregation for any measure. The default aggregation will be used automatically when the
measure is [irst tolaled in the view,

1. Right-elick (control-click on a Mac) any measore in the Data pane and select Defanlt Properties > Aggregation.

2. In the Aggregation list, select an aggregation.

Dimensions don't have aggregation properties, and adding properties manually each time defeats the whole DEFAULT aggregation purpose. Window tab doesn't
have any default aggregation option!
Reference: https://help.tableau.com/current/pro/desktop/en-us/datafields_fieldproperties.htm

NEW QUESTION 322
When you connect to a new data source, all worksheets that previously referred to the original data source now refer to the new data source. If the new data
source does not have the same field names as the original workbook, the fields are marked with an exclamation point.

4

Which feature helps us fix this issue?

A. Replace References
B. Fix Metadata

C. Renaming

D. Aliases

Answer: A

Explanation:

Replace References:

When you successfully connect to a new data source, all worksheets in the workbook that previously referred to the original data source now refer to the new data
source. If the new data source does not have the same field names as the original workbook, the fields become invalid and are marked with an exclamation point .
You can quickly resolve the problem by replacing the field's references.

For example, say you have a workbook connected to a data source that contains a Customer Name field. Then you edit the data source to point to a new data
source that has all the same data but instead of Customer Name, the field name has been changed to Name. The Customer Name field remains in the Data pane
but is marked as invalid. To make the field valid, you can replace the references, which means you can map the invalid field to a valid field in the new data source
(for example, Customer Name corresponds to Name).

Read more at : https://help.tableau.com/current/pro/desktop/en-us/howto_connect.htm

NEW QUESTION 326
You can use the in Tableau to clean / organise your data.

A. Data cleaner

B. Data manager
C. Data interpreter
D. Data organiser

Answer: C

Explanation:

When you track data in Excel spreadsheets, you create them with the human interface in mind. To make your spreadsheets easy to read, you might include things
like titles, stacked headers, notes, maybe empty rows and columns to add white space, and you probably have multiple tabs of data too.

When you want to analyze this data in Tableau, these aesthetically pleasing attributes make it very difficult for Tableau to interpret your data. That's where Data
Interpreter can help.
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What does Data Interpreter do?

Data Interpreter can give you a head start when cleaning your data. It can detect things like
titles, notes, footers, empty cells, and so on and bypass them to identify the actual fields and

values in your data set.

It can even detect additional tables and sub-tables so that you can work with a subset of your

data independently of the other data,

After Data Interpreter has done its magic, you can check its work to make sure it captured the
data that you wanted and identified it correctly, Then, you can make any necessary
adjustments.

After you select the data that you want to work with, you might also need to do some
additional cleaning steps like pivoting your data, splitting fields, or adding filters to get the
data in the shape you want before starting your analysis.

Reference: https://help.tableau.com/current/pro/desktop/en-us/data_interpreter.htm

NEW QUESTION 327
Which of the following options best describe measures?

A. They are categorical, qualitative
B. They are categorical, quantitative
C. They are numerical, qualitative
D. They are numerical, quantitative

Answer: D

Explanation:

Data fields are made from the columns in your data source. Each field is automatically assigned a data type (such as integer, string, date), and a role: Discrete
Dimension or Continuous Measure (more common), or Continuous Dimension or Discrete Measure (less common).

Dimensions contain qualitative values (such as names, dates, or geographical data). You can use dimensions to categorize, segment, and reveal the details in
your data. Dimensions affect the level of detail in the view.

Measures contain numeric, quantitative values that you can measure. Measures can be aggregated. When you drag a measure into the view, Tableau applies an
aggregation to that measure (by default).

Reference: https://help.tableau.com/current/pro/desktop/en- us/datafields_typesandroles.htm

NEW QUESTION 329
When working with Excel, text file data, JSON file, .pdf file data, you can use to union files across folders, and worksheets across workbooks. Search is
scoped to the selected connection.

A. Regex Search
B. Union Search

C. Pattern Search
D. Wildcard Search

Answer: D

Explanation:

You can use Wildcard Search to set up search criteria to automatically include tables in your union. Use the wildcard character, which is an asterisk (*), to match a
sequence or pattern of characters in the Excel workbook and worksheet names, Google Sheets workbook and worksheet names, text file names, JSON file
names, .pdf file names, and database table names.

When working with Excel, text file data, JSON file, .pdf file data, you can also use this method to union files across folders, and worksheets across workbooks.
Search is scoped to the selected connection. The connection and the tables available in a connection are shown on the left pane of the Data source page.
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To union tables using wildcard search

1. On the data source page, double-click New Unlon to set up the union.
Sheets &
B Juky2016

T Junellls
T BwyILe

5 Mew Union

2. Click Wildcard (automatic) in the Union dialog box

et P | oa |

3. Enter the search criteria that you want Tableau to use to find tables to include in the union.

L o

Secie brrinual) W Gl o[ v el

Expand search to find more Excel, text, JSON, .pdf data

I'he tables initially available to union are scoped to the connection you've selected. If you want to union more tables that
are located outside of the current folder (for Excel, text, JSON, pdf files) or in a different workbook (for Excel worksheets),
select one or both check boxes in the Union dialog box to expand your search.

For example, suppose you want 1o union all Excel worksheets that end with "2016" in its name outside of the current
folder, The initial connection is made to an Excel workbook located in the same directory in the above example, Z:\sales
\quarter_3

LR e

Reference: https://help.tableau.com/current/pro/desktop/en-us/union.htm

NEW QUESTION 330
What is a Tableau story point?

A. The pane where you set the size of the story
B. A collection of talking points to drive the story
C. An individual sheet or dashboard in the story
D. A collection of sheets arranged in a sequence

Answer: C

Explanation:
A Tableau story point is an individual container in a story that holds a sheet or dashboard. It's like a slide in a presentation, and a story is a sequence of these
points that can be used to convey a data narrative, showing how facts are connected and guiding the audience through a sequence of analysis steps.

NEW QUESTION 333
What are two examples of a date value? Choose two.
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A. 2020-05-01

B. December

C. Wednesday

D. January 1.1995

Answer: AD

Explanation:

Date values in Tableau represent specific points in time and are typically formatted in a standard date format.

? Option A, "2020-05-01", is a standard date format representing the 1st of May, 2020.

? Option D, "January 1, 1995", is another example of a date value, representing the 1st of January, 1995. Options B ("December") and C ("Wednesday") represent
a month and a day of the week, respectively, but do not specify a particular date.

NEW QUESTION 337
To display data that has both negative and positive quantitative values, Tableau Desktop will display marks by using as the default.

A. the full color range
B. a diverging palette
C. a sequential palette
D. a categorical palette

Answer: B

Explanation:

Tableau Desktop will display marks by using a diverging palette as the default to display data that has both negative and positive quantitative values. A diverging
palette is a type of color palette that uses two different color ranges to show positive and negative values. For example, a red-green diverging palette uses shades
of red for negative values and shades of green for positive values. A diverging palette is automatically applied when there are both negative and positive values for
a measure that is placed on Color on the Marks card5 The other options are not correct types of color palettes that Tableau Desktop uses as the default for data
with both negative and positive values. A full color range is not a valid term for a color palette in Tableau. A sequential palette is a type of color palette that uses
different shades of one color to show variations in a single measure. A sequential palette is usually applied when there are only positive values for a measure that
is placed on Color on the Marks card5 A categorical palette is a type of color palette that uses different colors to show discrete values or categories. A categorical
palette is usually applied when there is a dimension that is placed on Color on the Marks card5

NEW QUESTION 342
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